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Question Number : 1 Question Id : 6009641051 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The angle of 1 (minute of arc) is nearly (2r = 360° and x = 3.14)

1.242 %107 rad
2.285% 107 rad
3.291x107* rad
4.1.75x 107 rad

Options :

6009644201. 1
6009644202. 2
6009644203. 3
6009644204. 4

Question Number : 1 Question Id : 6009641051 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1" &SIV (919 F1 fF7E) T HF GId1 & TTHT (21 = 360° T 1 = 3.14)

1. 242 x 107 ST

2. 2.85 x 1076 AT
3.291 x 10~ VST
4,175 x 1072 ST

Options :

6009644201. 1
6009644202. 2
6009644203. 3
6009644204. 4

Question Number : 2 Question Id : 6009641052 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A ball is thrown vertically upward with certain velocity from the surface of the earth and after some
time it returns back to the earth. The velocity - time (v-f) graph for the entire journey is given by
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A
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Options :

6009644205. 1
6009644206. 2
6009644207. 3
6009644208. 4

Question Number : 2 Question Id : 6009641052 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Options :

6009644205. 1
6009644206. 2
6009644207. 3
6009644208. 4

Question Number : 3 Question Id : 6009641053 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A cricket ball is thrown at a speed of 32 ms™ in a direction 30° above the horizontal. The maximum

height it will attain is (take g = 10 ms™)

.08 m
2.128m
3.256m

4.512m

Options :

6009644209. 1
6009644210. 2
6009644211. 3
6009644212 4

Question Number : 3 Question Id : 6009641053 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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ot fobdhe e 1 &faet @ 30° & I I fown # 32 me™ 31 91 W el T 81 39 g 79 Bl !
S aH
313 ¢ (g = 10 ms 2 Wiforg)

1.08m

2.128m
3.256m
4.512m

Options :

60096442009. 1
6009644210. 2
6009644211. 3
6009644212. 4

Question Number : 4 Question Id : 6009641054 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The motion of a particle of mass m is described by y = ut + = gt2. The force acting on the particle is

1. Zero
1
2=
2 nlg
3.mg
4.2mg

Options :
6009644213. 1
6009644214. 2
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6009644215. 3
6009644216. 4

Question Number : 4 Question Id : 6009641054 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Mﬁrks : 4 Wrong Marks : 1 ] ) )
GO m & {8 SU DI T PITUT y = yp 42 g2 GRT b1 T 61 5 VI R TR 401 ¢

1.3
1

2.E me

3.mg

4.2mg

Options :

6009644213. 1
6009644214. 2
6009644215. 3
6009644216. 4

Question Number : 5 Question Id : 6009641055 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A batsman hits back a ball of mass 0.2 kg straight in the direction of the bowler without changing its
Initial
speed of 10 m s™". Assuming linear motion of the ball, the impulse imparted to the ball is

1.4Ns
2.2N5s
3. Zero

4.-4Ns

Options :

6009644217. 1
6009644218. 2
6009644219. 3
6009644220. 4

Question Number : 5 Question Id : 6009641055 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Bl iyl 02 kg 5o9H $1 1 Pi e Tearl of foxn § 39! IR 91 10 ms™" ¥ {61 g
uRvad ot foe AR a1 1w e 71 e @t ifa @1 e ard 5U e &1 ueH foa mn snaw g

1.4 Ns
2.2 Ns

3.3
4. -4 Ns

Options :
6009644217. 1
6009644218. 2
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6009644219. 3
6009644220. 4

Question Number : 6 Question Id : 6009641056 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A man of mass 70 kg stands on a weighing scale in a lift which is moving upwards with a uniform
acceleration
of 10 m 572 The reading on the weighing scale will be (take g = 10 m s

1. Zero
2.35kg
3.70 kg
4.140 kg

Options :

6009644221. 1
6009644222, 2
6009644223, 3
6009644224 4

Question Number : 6 Question Id : 6009641056 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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70 kg SO 1 Pl e fobaft e &, it 10 ms-2 & T v & Uit i & g €, forel
YR HIGH 31 33 R G ¢ 1 59 9L &1 TIadia g (g = 10 ms™2 iforg)

1.3
2.35kg

3.70kg
4.140 kg

Options :

6009644221. 1
6009644222. 2
6009644223 3
6009644224 4

Question Number : 7 Question Id : 6009641057 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A bob of mass m is suspended by a thread of length L. At the lowest point A (see figure) of its
position a horizontal velocity v, is imparted such that it completes a semicircular trajectory in the
vertical plane. The minimum velocity imparted should be
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Options :

6009644225. 1
6009644226. 2
6009644227. 3
6009644228. 4

Question Number : 7 Question Id : 6009641057 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009644225. 1
6009644226. 2
6009644227. 3
6009644228. 4

Question Number : 8 Question Id : 60096410358 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The moment of inertia of a disc of mass M and radius R about one of its diameter is

l. MR?

2. MR*/2

3. MR*/4

4 MR*/6
Options :
6009644229. 1
6009644230. 2

6009644231. 3
6009644232, 4

Question Number : 8 Question Id : 6009641058 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

SO M 3R G R 3t foelt e o 3yt et oy 3 e g ol gl @

1. MR?

2. MR*/2

3. MR* /4

4 MR*/6
Options :
6009644229. 1
6009644230. 2

6009644231. 3
6009644232, 4

collegedunia:s

India’s largest Student Review Platform

~

T




Question Number : 9 Question Id : 6009641059 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The speed of a planet at the perihelion is v, and the sun planet distance is r, The corresponding
quantities at the aphelion are y, and r, respectively. Then

W I
P P
==L
ld rﬂ
I1 rn
p 'a
g
Vo Ty
=
3‘p_x5
-
Va \fh
-
V, s
4. —p - \r—_
Va T
Options :

6009644233. 1
6009644234, 2
6009644235. 3
6009644236. 4

Question Number : 9 Question Id : 6009641059 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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et 7 I fala GURR) WA, & 7o -6 ¥ . €13 gt i d 3= (3iR) |
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1::: Ta
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b e
F _VY'a
4- —.' = 'T__*
Va T
Options :
6009644233.
6009644234,
6009644235.
6009644236.

Question Number : 10 Question Id : 6009641060 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A comet is revolving around the sun in a highly elliptical orbit. Which of the following quantity has

constant value during its revolution?

1. Linear speed

2. Angular momentum
3. Angular speed

4. Kinetic energy

Options :

6009644237. 1
6009644238. 2
6009644239, 3
6009644240. 4

Question Number : 10 Question Id : 6009641060 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

I3 i e dHaeia e A g & uREH FX g1 81 URHHI FRd T i < et o
&1 A 94 el 2

1, 0P A1

2. PIvfig a

3, DIV 91l

IRIGERT

Options :
6009644237 1
6009644238. 2
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6009644239. 3
6009644240. 4

Question Number : 11 Question Id : 6009641061 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A water tank filled with water has a small hole at a depth h from the top surface of the water. If the
tank is open to atmosphere and the cross-sectional area of the tank is much larger than that of the
hole, then the speed of efflux is given by

1. Jgh
2. \2§h

—_—

3*2f9h

Options :

6009644241. 1
6009644242. 2
6009644243, 3
6009644244. 4

Question Number : 11 Question Id : 6009641061 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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0 4 4R el o ¢t & o o I U8 9 h Tows W BIS e 9% o1 3G 0 Sl SR A el § o
el Bl SFTIR-PIC PI 8T 39 [ 1 qaitl ¥ aigal ¥ g, dl 8% 3 9 & e 31 arl gl
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1.{g
2 2gh

—

3 2y gh
4. Jghf2

-

Options :

6009644241. 1
6009644242. 2
6009644243, 3
6009644244 . 4

Question Number : 12 Question Id : 6009641062 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The density of water is maximum at the temperature of

1.4K

2.4°C

3.4°F

4.0°C
Options :
6009644245. 1
6009644246. 2

6009644247. 3
6009644248. 4
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Question Number : 12 Question Id : 6009641062 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fnfafed # 9 fw aU | 9 31 99d fiHaH gidr 2
1.4K
24°C
3. 4°F
4.0°C

Options :

6009644245. 1
6009644246. 2
6009644247. 3
6009644248. 4

Question Number : 13 Question Id : 6009641063 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A vessel contains two non-reactive gases: neon and helium. The ratio of their partial pressure is 3: 2.
The ratio of their number of molecules will be

8 5
2.1:2
3.2:3
4.3:2

Options :
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6009644249. 1
6009644250. 2
6009644251. 3
6009644252, 4

Question Number : 13 Question Id : 6009641063 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
ol a1 by 9 i ot giferam 48 €1 3 Hif <l 1 3 3: 2 1 3 sl B

%)
212
34:8
4.3:2

Options :

6009644249 1
6009644250. 2
6009644251. 3
6009644252 4

Question Number : 14 Question Id : 6009641064 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The mean free path of molecules each having diameter d, in a gas having n number of molecules per
unit volume is given by

1. 1/(V2nrd?)
2. 1/(2nnd?)
3.1/(V2nnd?)
4.1/(2nd?)
Options :
6009644253. 1
6009644254, 2

6009644255. 3
6009644256. 4

Question Number : 14 Question Id : 6009641064 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fobaft 71, foreich Wil Uepich 1Tt H Sfojsil bt G n @ Ul Welleh Y] 1 o419 d &, V[l T HIeE-
Hdd T4 Eidl &

Options :

6009644253. 1
6009644254. 2
6009644255. 3
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6009644256. 4

Question Number : 15 Question Id : 6009641065 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The pressure of a gas, kept in an isothermal container is 200 Pa. The pressure when half of the gas is
removed will be

1. 800 Pa
2.400 Pa
3,200 Pa

4.100 Pa

Options :

6009644257. 1
6009644258. 2
6009644259. 3
6009644260. 4

Question Number : 15 Question Id : 6009641065 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fepatt i ar 4 foedt 7 T 37 200 Pa 1 5 TR & 3meht TRy FpIeH & AT g g

1. 800 Pa

2. 400 Pa
3,200 Pa
4. 100 Pa
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Options :

6009644257. 1
6009644258. 2
6009644259. 3
6009644260. 4

Question Number : 16 Question Id : 6009641066 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A 30 cm long pipe, open at both ends resonates with frequency 1.1 kHz. The mode of vibration will

be (take velocity of sound 330 ms™)

1. First harmonic

2. Second harmonic
3. Third harmonic

4. Fourth harmonic

Options :

6009644261. 1
6009644262. 2
6009644263. 3
6009644264. 4

Question Number : 16 Question Id : 6009641066 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

L ]
gcollegedunlaa
India’s largest Student Review Platform

T



&A1 RRT 8 Gel 30 om THIR &1 Pl UIZY 1.1 kHz P19 F G XAl ¢ S0P HIA B fae
gitth (s 1 a7 330 ms™ wifoig)

1. o T} (gmifie)
2E?ﬁum(ﬂﬂfﬁ$)
3, el GG} (gHii)

4, 73 1) gt p)

Options :

6009644261. 1
6009644262. 2
6009644263. 3
6009644264. 4

Question Number : 17 Question Id : 6009641067 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The length of a simple pendulum which ticks seconds is (take g = 10 ms™; n? = 10)

1.4m
2.2m
3.1m
4.05m

Options :

6009644265. 1
6009644266. 2
6009644267. 3
6009644268. 4
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Question Number : 17 Question Id : 6009641067 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

39 WA TAd DI s, 9 Uid YHUS i Hi @i P g, 5l © (g = 10 ms g2 = 19 WY

1.4m
2.2m
3.1m
4.05m

Options :

6009644265. 1
6009644266. 2
6009644267. 3
6009644268. 4

Question Number : 18 Question Id : 6009641068 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The temperature of two bodies measured by a thermometer are T, =40<C+ 02 and

T, = 10°C + 0.2°C. The temperature difference (r,-T,) and the error therein is

1.30°C £+ 0.0°C
2.30°C + 0.2°C
3.30°C + 0.4°C
4.30°C + 0.1°C

Options :
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6009644269. 1
6009644270. 2
6009644271. 3
6009644272, 4

Question Number : 18 Question Id : 6009641068 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

WWWQ@WWE—TW?}?WTEN °c+02°Cc T, =10°C+0.2°C 613 i & 9l
(7,~,) 1 3 712 &l

1.30°C 4 00°C
2.30°C 4 02°C
3,309C + 04°C
4,30°C +0.1°C

Options :

6009644269. 1
6009644270. 2
6009644271. 3
6009644272 4

Question Number : 19 Question Id : 6009641069 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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What is the maximum acceleration of a train in which a box lying on its floor will remain stationary,

given that the coefficient of static friction between the box and the train's floor is 0.27 (take g = 10
-2

ms )

1. Zero
2.1.0ms™
3,20 ms™

44,0 ms™

Options :

6009644273. 1
6009644274. 2
6009644275. 3
6009644276. 4

Question Number : 19 Question Id : 6009641069 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

falt ¢ 1 HfeH R 1 8 Forad T BE W P 6l [RR W, i § fob aiag ok A
& BY & ol Wfdd T80 0P 0.2 87 (g = 10 ms™? Wfiforg)

139
2.1.0ms™

3.20ms™

4. 4,0 ms™

Options :
6009644273. 1
6009644274. 2
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6009644275. 3
6009644276. 4

Question Number : 20 Question Id : 6009641070 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Consider a rain drop of water of mass 2.0 g falling from a height of 1.0 km. After sometime it attains
terminal velocity of 40 m s™ due to viscous force of air. Then the magnitude of work done by
viscous force as the water drop hits the ground is (take g = 10 m s79)

1.84)
2.124)
3.164 )
4.184)

Options :

6009644277. 1
6009644278. 2
6009644279. 3
6009644280. 4

Question Number : 20 Question Id : 6009641070 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1.0 km @ $d13 9 fiRd 2.0 g %o99H B! 381 B -4 W fduR DifoU| T & WH 80 & FRY 9
Y UgTq 95 dg offod e 9 o o i 1 o 98 g Rt § e ¢ de O /6 gRI
[T 70 B &1 IRV Bl © (g = 10 ms™2 eliforg

1.84)

2.124)
3.164)
4.184)

Options :

6009644277. 1
6009644278. 2
6009644279. 3
6009644280. 4

Question Number : 21 Question Id : 6009641071 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The angular momentum about the origin for a particle of mass 5 kg moving with a velocity v = 10
m s and at a position given by r = 2im is

1.10 kkgm®s™
2.50 jkgm® 5™
3.100 kkgm®s™
4.200ikgm®s™

Options :
6009644281. 1
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6009644282. 2
6009644283. 3
6009644284. 4

Question Number : 21 Question Id : 6009641071 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Fﬁrfﬂzlﬁilﬁr:gimﬂ“{aﬂv: 1gjms"'ﬁ1laﬂiﬁSkg@ﬂﬂaﬁmmaﬂ%la@ & UNG:
PIvifg a7 gl

1. 10 kkgm®s™
2.50 {kgm® 5™
3.100 kkgm® 5™
4.200ikgm®s™
Options :
6009644281. 1
6009644282. 2

6009644283. 3
6009644284. 4

Question Number : 22 Question Id : 6009641072 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A steel rod of radius 10 mm and length 2.0 m is stretched by a force of 2x10° N along its length. The

stress acting on the rod is nearly (x = =)

1.3.18x10°N m™
2.6.36x105N m™
3,3.18x10°N m™
4. 6.36x10°N m™
Options :
6009644285. 1
6009644286. 2

6009644287. 3
6009644288. 4

Question Number : 22 Question Id : 6009641072 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

awas 2.0 m AR BT 10 mm @1 {68 €Td 91 33 B J0P! W6 B Y 2x10° N & o] 7
gmﬁwm@a&wwﬁmﬁm@mm&=§

1.3.18x10° N m
2.6.36x10°N m™
3,3.18x10°N m™
4,6.36x10°N m™

Options :
6009644285. 1
6009644286. 2
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6009644287. 3
6009644288. 4

Question Number : 23 Question Id : 6009641073 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
According to Stokes' law, the viscous force acting on a body falling through a viscous fluid, is

proportional to
(n is the coefficient of viscosity)

Options :

6009644289. 1
6009644290. 2
6009644291. 3
6009644292. 4

Question Number : 23 Question Id : 6009641073 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009644289. 1
6009644290. 2
6009644291. 3
6009644292. 4

Question Number : 24 Question Id : 6009641074 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A heat engine takes 100 J of heat from a hot reservoir and releases 25 J of heat to a cold reservoir.
The efficiency of the heat engine is

1.0.25
2.0.50
3.0.75
4.1.00

Options :
6009644293. 1
6009644294. 2
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6009644295. 3
6009644296. 4

Question Number : 24 Question Id : 6009641074 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Bl W1 o Tt T7H U8 | 100 ) T Well © 7T &S HUS Bl 25 ) 1 Hdd el 61 39 GoH]
G S

1.0.25
2.0.50
3.0.75

4.1.00

Options :

6009644293. 1
6009644294 2
6009644295. 3
6009644296. 4

Question Number : 25 Question Id : 6009641075 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A body oscillates with SHM according to the equation

x =4sin( 2nt +n/4)m

Its displacement at t =1.0 s, is (take {2 = 1.4)

1.20m
2.28m
3.40m
4.56m

Options :

6009644297. 1
6009644298. 2
6009644299. 3
6009644300. 4

Question Number : 25 Question Id : 6009641075 Question Type : MCQ Option Shuftling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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g fJUg FHibRu
x = 4sin(2nt + n/4)m
& AR T M1 7 (SHM) Rl g1 ¢ =1.0 s TR 38 08 1 faRITe g1 (3 = 1.4 oD

1.20m
2.28m

3.40m

4.56m

Options :

6009644297. 1
6009644298. 2
6009644299. 3
6009644300. 4

Question Number : 26 Question Id : 6009641076 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A glass slab of refractive index 1.47 disappears in trough of liquid. The refractive index of the liquid
will be

1 1.47/\;‘5
2. 141V
3.147

4.1.0
Options :
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6009644301. 1
6009644302. 2
6009644303. 3
6009644304. 4

Question Number : 26 Question Id : 6009641076 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

147 HYAHID BT DI Hid &1 &id [b] 59 & $UG H G g1 W1 &1 59 PI UG BT

1~L47/w3
2. 141\

3.147
4.1.0

Options :

6009644301. 1
6009644302. 2
6009644303. 3
6009644304. 4

Question Number : 27 Question Id : 6009641077 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Work function of certain metal is 3.3 eV. The threshold frequency for the same metal for
photoelectric emission will be (h = 6.6x10%* ) 5; 1 eV = 1.6x107° ))

1.8.0x10™ Hz
2.80x10"° Hz
3.80x10" Hz
4,8.0x10" Hz

Options :

6009644305. 1
6009644306. 2
6009644307. 3
6009644308. 4

Question Number : 27 Question Id : 6009641077 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

(ot 1 F1 PRIGEH 33 eV g1 UHRI-fagyd I & foru 34l oig & fow <eet amaf gt (h =

6.6x10* ) s:

1eV=16x10"))

1.8.0x10" Hz
2.80x10"° Hz
3.8.0x10" Hz
4,80x10" Hz

Options :
6009644305. 1
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6009644306. 2
6009644307. 3
6009644308. 4

Question Number : 28 Question Id : 6009641078 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The ground state energy of electron in hydrogen atom is -13.6 eV. The corresponding kinetic and

potential energies are respectively

1. Zero:-13.6 eV
2.-68¢eV:-68¢eV
3.136eV:-272¢V
4.-13.6¢eV: Zero
Options :
6009644309. 1
6009644310. 2

6009644311. 3
6009644312. 4

Question Number : 28 Question Id : 6009641078 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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BISGIo URATY] H geidei @I HHdH AR il -13.6 eV ¢ | daTeul Tiaet R Rfdd Foll H9: §

.34 ;-136eV
2.-68¢eV;-68¢eV
3.136eV;-212eV
4.-136eV: {4
Options :
60096443009. 1
6009644310. 2

6009644311. 3
6009644312. 4

Question Number : 29 Question Id : 6009641079 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Tritium undergoing P decay has a half-life of 12.5 y. The percentage of pure tritium which remains
un-decayed after 50y is

1.93.05
2.81.5
3.6.25
43125

Options :

6009644313. 1
6009644314. 2
6009644315. 3
6009644316. 4
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Question Number : 29 Question Id : 6009641079 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

B & id CHfeam &f 3y 12,5 98 ¢ 1 50 W o T faTT &4fdi gu 9w & s Sifeaw @t widien gl

1.93.75
2.87.5
3.6.25
43125

Options :

6009644313. 1
6009644314. 2
6009644315. 3
6009644316. 4

Question Number : 30 Question Id : 6009641080 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The symbol x in the following nuclear reaction represents

238 4 530 U 3 Np+ X 47

1. y-ray

2. Antiproton

3. a-particle

4. B-particle
Options :
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6009644317. 1
6009644318. 2
6009644319. 3
6009644320. 4

Question Number : 30 Question Id : 6009641080 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A4 & T A I A y G E A By 4B B Np+ X +7

9

1. y-f’fiﬂﬂf

3. a-®V]

4,530
Options :
6009644317. 1
6009644318. 2

6009644319. 3
6009644320. 4

Question Number : 31 Question Id : 6009641081 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

L ]
gcollegedunlaa
India’s largest Student Review Platform

T



The V-I characteristics of a solar cell is shown in the figure. The points A and B are respectively called

| A

1. Open circuit voltage ; short circuit current
2. Open circuit voltage ; open circuit current
3. Short circuit voltage ; short circuit current
4, Short circuit voltage ; open circuit current

Options :

6009644321. 1
6009644322, 2
6009644323. 3
6009644324 4

Question Number : 31 Question Id : 6009641081 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A 1T 3  fordi R A 1 v-/ aifivereifores auitan i g1 fa A 3R 8 HWS: Fgad ¢

| A

1. ol gRuY dieed! ; Y gRuY 4RI
2. Gal uRay dieed ; Gal TRey 4RI
3, 09 URUY dleed ; @Y IRTY 4RI
4, % TRTY diced ; Gal TRy 4RI

Options :

6009644321. 1

6009644322. 2

6009644323, 3
6009644324. 4

Question Number : 32 Question Id : 6009641082 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The frequency range of cellular radio mobile is

1. 540 - 1600 kHz

2. 88 - 108 MHz
3. 174 - 216 MHz

4.896 - 935 MHz

Options :

6009644325. 1
6009644326. 2
6009644327. 3
6009644328. 4

Question Number : 32 Question Id : 6009641082 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
YR Sl HiaTga oI 3gfd IRER &
1. 540 - 1600 kHz
2. 88 - 108 MHz

3. 174 - 216 MHz
4,896 - 935 MHz

Options :

6009644325. 1
6009644326. 2
6009644327. 3
6009644328. 4

Question Number : 33 Question Id : 6009641083 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

~
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The diode used for voltage requlation is

1. Zener diode

2. Light emitting diode
3. Photodiode

4. Solar cell

Options :

6009644329. 1
6009644330. 2
6009644331. 3
6009644332. 4

Question Number : 33 Question Id : 6009641083 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

dicedl (gHH & fou Sua fu 9 arar sis §

1. O SHIE

2. Yol BW_n ol SIS (LED)
3, L{:lﬁlsmis
4 R U4

Options :

6009644329. 1
6009644330. 2
6009644331. 3
6009644332 4
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Question Number : 34 Question Id : 6009641084 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In optical fibre, the light travel along the fibre by undergoing repeated total internal reflections. For
this purpose we ensure that the refractive index of the material

1.1s low
2. decreases from centre towards surface
3. increases from centre towards surface
4.1s high

Options :

6009644333. 1
6009644334. 2
6009644335. 3
6009644336. 4

Question Number : 34 Question Id : 6009641084 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

WHTIRI dq) # T b SF3fe Wbl GRTadl ol SR WRIAcH Bl & SR A Hell ¢ 38 foiL
&W U5 G o € o o & uerd 1 suadi

1. g gl
2. b 9 UF Bl AR 92
3,35 4 U8 9l AR q¢
4,37l
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Options :

6009644333 1
6009644334 2
6009644335. 3
6009644336. 4

Question Number : 35 Question Id : 6009641085 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
As a rare view mirror in a car, the type of mirror used is,

1. Plane

2. Concave
3. Convex
4. Cylindrical

Options :

6009644337. 1
6009644338. 2
6009644339. 3
6009644340. 4

Question Number : 35 Question Id : 6009641085 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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it PR A Y 739 20u & U § Juai gH a1 & 61 VPR &

1. qHdd

2, 3fddd
3, 300
ACGIGAL

Options :

6009644337. 1
6009644338. 2
6009644339. 3
6009644340. 4

Question Number : 36 Question Id : 6009641086 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The reddish appearance of the Sun near the horizon is due to the following phenomenon of light

1. Refraction

2. Rayleigh Scattering

3. Diffraction

4. Total internal refraction

Options :

6009644341. 1
6009644342, 2
6009644343. 3
6009644344 4
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Question Number : 36 Question Id : 6009641086 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

foiforet o T T & e U g 1 SRY At ol Tl k-l aReeH @2

Options :

6009644341. 1
6009644342. 2
6009644343. 3
6009644344 4

Question Number : 37 Question Id : 6009641087 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The magnetic field due to a circular wire loop of radius R and carrying current / at its centre is given
by (u, is the permeability of free space)

1. uyl/2R
2. ol/2nR
3. 1yl/2R?
4 |.LDJ/2RR:

Options :
6009644345. 1

gcollegedunias

T



6009644346. 2
6009644347. 3
6009644348. 4

Question Number : 37 Question Id : 6009641087 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
G5l p & TR & TAIGR U, o) 4RT 7 vafed &1 W81 &, & PRV 39 g N T &7 8l ¢
(6T . W ST ] bl )

1. wl/2R
2. Mo /2NR
3 uﬁfﬁ.‘?:
4. yol /2nR?

Options :

6009644345. 1
6009644346. 2
6009644347. 3
6009644348. 4

Question Number : 38 Question Id : 6009641088 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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When a p-n junction diode is reversed bias, the width of the depletion region,

1. Increases

2. Decreases
3. Remains unaltered
4. Becomes zero

Options :

6009644349. 1
6009644350. 2
6009644351. 3
6009644352 4

Question Number : 38 Question Id : 6009641088 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Wﬁlﬁpanﬂﬁf?ﬁmﬁﬁmﬁmwmﬁm

1,96 oIl @
2 e g
3, 3yufafdd et 8
4, QA Gl ©

Options :

6009644349. 1
6009644350. 2
6009644351. 3
6009644352 4

Question Number : 39 Question Id : 6009641089 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

~

T

collegedunia:s

India’s largest Student Review Platform




Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The electric field inside a uniformly charged thin spherical shell having radius R and total charge Q is
(g,1s the permittivity of free space)

1. Q/4ne,yR?
2.Q/4neoR

3. Zero

4. Q/2neyR?

Options :

6009644353. 1
6009644354 2
6009644355. 3
6009644356. 4

Question Number : 39 Question Id : 6009641089 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
1 9% Q It FIAT R 3 T i Tt el & i e 44 €I € (e ¢, e 9
i FaqRietl/ I )

1. Q/4ne,yR?
2. Q/4neyR

3.9

4. Q/2ne,R?

Options :
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6009644353. 1
6009644354. 2
6009644355. 3
6009644356. 4

Question Number : 40 Question Id : 6009641090 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A Van de Graaff generator is used for

1. Accelerating neutron
2. Charging capacitor
3. Generating electricity

4. Accelerating charge particles
Options :
6009644357. 1
6009644358. 2
6009644359. 3
6009644360. 4

Question Number : 40 Question Id : 6009641090 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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a S 91 i 1 SN ol ofel &
1, A B GRd HE B o0
2. e 1 A B & ferw
3, 19egq & o & faT
4, AR SV bl R H & fef
Options :
6009644357. 1
6009644358. 2

6009644359. 3
6009644360. 4

Question Number : 41 Question Id : 6009641091 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A current is flowing through a conductor of non-uniform cross section. The quantity which remains
constant along the conductor is

1. Current density
2. Drift velocity

3. Current

4. Electric field
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Options :

6009644361. 1
6009644362. 2
6009644363. 3
6009644364. 4

Question Number : 41 Question Id : 6009641091 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

foall SR SIRY-PIC T 4 Bl YR Ydlied ol Vol ol A & fHfex Fad g areft Wi 8

1. YRT Yd

2. 3qdIg 41
3, ¢[]

4, faggq &

Options :

6009644361. 1
6009644362. 2
6009644363. 3
6009644364. 4

Question Number : 42 Question Id : 6009641092 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The total resistance between terminal A and B is (see figure)

10Q 200
A 0o |8
200 400
1.90 Q
2.60 Q)
3.300Q
4.20()
Options :

6009644365. 1
6009644366. 2
6009644367. 3
6009644368. 4

Question Number : 42 Question Id : 6009641092 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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ofifFa A 3R 8% o o vy § (R ey

100 200
— AW WA
A 0o B

— Yy,

20Q 40Q
1.90Q)
2.60 ()
3.30Q
4.20 ()

Options :

6009644365. 1
6009644366. 2
6009644367. 3
6009644368. 4

Question Number : 43 Question Id : 6009641093 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The evidence of connection between electric and magnetic phenomena was demonstrated by

1. H.C. Oersted
2. HA. Lorentz

3. Joseph Henry
4. Michael Faraday
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Options :

6009644369. 1
6009644370. 2
6009644371. 3
6009644372. 4

Question Number : 43 Question Id : 6009641093 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

deuc IR Jrr uRgeI & g Ty & y o fe fafia fm am
1,749, 4, 3ffce

209, U AR

3, S eI

4, A5 Bils
Options :
6009644369. 1
6009644370. 2

6009644371. 3
6009644372. 4

Question Number : 44 Question Id : 6009641094 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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When a charged particle having charge g and mass m is accelerated in a cyclotron having magnetic
field strength B, the cyclotron frequency is given by

1. nm/qB
2. 2nm/qB
3 qB/2nm

4. qB frm
Options :
6009644373. 1
6009644374. 2

6009644375. 3
6009644376. 4

Question Number : 44 Question Id : 6009641094 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
d GHH m AR A9 g & ol R F1 $1 FEDig &7 i 8 & ol wrRaic gR1 @Rd
foran 1l 2, ft Wgaiici ot g gt @

1. nm/qB
2. 2nm/qB
3. qB/2nm
4. 9B /nm

Options :
6009644373. 1
6009644374. 2
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6009644375. 3
6009644376. 4

Question Number : 45 Question Id : 6009641095 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
To convert a galvanometer to an ammeter we connect

1. A low resistance in parallel with the galvanometer
2. A low resistance in series with the galvanometer

3. A high resistance in parallel with the galvanometer
4. A high resistance in series with the galvanometer

Options :

6009644377. 1
6009644378. 2
6009644379. 3
6009644380. 4

Question Number : 45 Question Id : 6009641095 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

febd TiedefieieR i UHiteR # ufkafdd ¥ & forw & Faiford X €2

1, TiedIwieR & Ty Y H DI e iy
2. TiedHHieR & g1y 9ot & Pig A wfaRiy
3, Tiedivicy & a1y 4 o i 9 iRy
4, TeaiHiex & Ty 4oft ¥ Bl o wfekly

Options :
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6009644377. 1
6009644378. 2
6009644379. 3
6009644380. 4

Question Number : 46 Question Id : 6009641096 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
At a certain place a horizontal component of earth’s magnetic field is 0.26 G and the dip angle is 45°.

The magnetic field of the earth at this location is

1.V2/0.26 G
2 ? x 026G

3.026/V206
4026126

Options :

600964438]1. 1
6009644382. 2
6009644383. 3
6009644384. 4

Question Number : 46 Question Id : 6009641096 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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faaft o 0 M W el & et &7 F1 Ao 9 0.26 G 71 BI0 45° 71 39 JfaRufd | gadi
& D 8 ¢

1.V2/026 G

) V3
: 'E* X 0265

3.026/V26
402626

Options :

6009644381. 1
6009644382. 2
6009644383. 3
6009644384. 4

Question Number : 47 Question Id : 6009641097 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Working of induction furnace is based on the principle of

1. Heating effect of current
2. Eddy current effect

3. Mutual induction

4. Self induction

Options :
6009644385. 1
6009644386. 2
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6009644387. 3
6009644388. 4

Question Number : 47 Question Id : 6009641097 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

IR g1 &1 B (o Rigid W 3o 62

1, YR T AU YHIG
2. HaR YR Y¥1d

3, 31 IR

4, @I

Options :

6009644385. 1
6009644386. 2
6009644387. 3
6009644388. 4

Question Number : 48 Question Id : 6009641098 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A 20 uF capacitor is connected to a 200 V, 50 Hz ac source. Its capacitive reactance is

1. Snx 10%0
2. Smx 10°0
3. (5/n) x 10°0
4. (5/m) x 10*0
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Options :

6009644389. 1
6009644390. 2
6009644391. 3
6009644392 4

Question Number : 48 Question Id : 6009641098 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

20 uF SR &1 Bl TR 200 V, 50 Hz 3MGHI & ac Hid | G &1 SHST IR Hidwrd &

1.Sex10°Q

2. 5nx10° 0

3. (5/m) x 10° 0

4. (5/m) x 101 0
Options :
6009644389. 1
6009644390. 2

6009644391. 3
6009644392. 4

Question Number : 49 Question Id : 6009641099 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A plane electromagnetic wave of frequency 50 MHz is traveling in free space in x-direction. At a

particular point in space and time, E= 6.3V m™". The magnetic field B at this point is

1.21 x 1078 kT

2. -21%10"°kT

3.1.89 x 10~7kT

4. -189 x 10~7kT
Options :
6009644393, 1
6009644394, 2

6009644395. 3
6009644396. 4

Question Number : 49 Question Id : 6009641099 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Ve
Correct Marks : 4 Wrong Marks : 1

rtical

HEGc2 B

50 MHz 31gftl @1 Bl GHdd [dgq TaH1Y a1 God HadRI ¥ x-f62n § T FR @
federa H foreft fag R E=6.3] v 8150 fog R aola 87 B §

1.2 x 1078 kT

2. =21 % 1078 kT
3.1.89 x 10 7KkT
4. -189 x1077KkT

Options :
6009644393. 1
6009644394. 2
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6009644395. 3
6009644396. 4

Question Number : 50 Question Id : 6009641100 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A square loop of side 10 cm is placed vertically in the east west plane. A uniform magnetic field of
0.1 T s set up across the plane of the loop in the northeast direction. The flux linked with the loop is

1.V2x 1072 wh

2.2%x 1073 Wb

3. (1/¥2)x 1072 Wb

4. (1/V2)x 1073 Wb
Options :
6009644397, 1
6009644398, 2

6009644399. 3
6009644400. 4

Question Number : 50 Question Id : 6009641100 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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10 cm 4oll P1 Pl FIHR UK Ud-UFEH 71 § HealeR: 1 ¢ 1 39 UK & odl o RRI R FwR-gd fam
H0.1 T DI WHHH 1Y & 1 T ¢ 1 59 U 9 e Wi ¢

1.V2x 107 Wb
2.2x 107 Wb
3 (1/N2)x 107 wh
4. (1/V2)x 103 Wb

Options :

6009644397 1
6009644398. 2
6009644399. 3
6009644400. 4

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Display Number Panel :

Group All Questions :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Part B Chemistry
60096423
2
Online
Mandatory
50
50
200
Yes
Yes
Yes
1
60096423
Yes
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Question Number : 51 Question Id : 6009641101 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Ortho-sulphobenzimide is also known as

1. saccharin
2. sucralose
3. aspartame
4. alitame
Options :
6009644401. 1
6009644402. 2

6009644403. 3
6009644404. 4

Question Number : 51 Question Id : 6009641101 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

iuf-gepiduinGs o Fufafad # @ fog Tm & o o o g

1, YR
2. YT

Options :
6009644401. 1
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6009644402. 2
6009644403. 3
6009644404. 4

Question Number : 52 Question Id : 6009641102 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Among the following hormones :

A. Calcitonin

B. Parathyroid
C. Oxytocin

D. Progesterone

Select the correct option which is/are responsible to maintain the concentration of calcium in
plasma.

1.Only B

2.B,Cand D
3.A,BandC
4. AandB

Options :

6009644405. 1
6009644406. 2
6009644407. 3
6009644408. 4
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Question Number : 52 Question Id : 6009641102 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Aid feu 0 ginfAT d Q P-4/ Wion ¥ dicam & Higdl $1 &0 TG & fiu Iweri 3/ -
A. Bl
B TRIYRRITS
C. iR
D. WGl
ol fdded U

1, Hdc B
2.B,C3RD
3.AB3IRC
4 AR B
Options :
6009644405. 1
6009644406. 2

6009644407. 3
6009644408. 4

Question Number : 53 Question Id : 6009641103 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
gcollegedunlaa
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Correct Marks : 4 Wrong Marks : 1

Which one of the following is used as a catalyst in the given reaction?

4C=CHy + O, Catalyst (In water) - CHCHO

1.Pb (Il)

2. Cu (I)

3.Pb(l)

4, Cu (Il)
Options :
6009644409. 1
6009644410. 2

6009644411. 3
6009644412. 4

Question Number : 53 Question Id : 6009641103 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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I
H,C=CH, + O, L > CH,CHO

Options :

60096444009. 1
6009644410. 2
6009644411. 3
6009644412. 4

Question Number : 54 Question Id : 6009641104 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match the polymers in Column | with their examples given in Column Il

Column| Column Il
A. Elastomer |, Bakelite
B. Fibres II. Buna-S

C. Thermoplastic polymers | lIl. Polystyrene

D. Thermosetting V. Nlon-6.6
. Nylon-6,

polymers

Choose the correct answer from the options given below:

1.1-A 11-B; llI-C; IV-D

2. I-B; II-D; 1I-C; IV-A

3.1-8; II-C; llI-D; IV-A

4. A-l, B-ll, C-IV, DIl
Options :

6009644413. 1
6009644414. 2
6009644415. 3
6009644416. 4

Question Number : 54 Question Id : 6009641104 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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P | 7 30 0 agad (ufeltm) &1 Srem I H 30 70 3 Sare d g

FIav | Frav

A TARYT® (ZUEIR) | dhage

B. 3 (BI5R) I S-S

C. T Tgaid (UICIR) I, GeReTS
D. - Tgd (UICiR) IV, TIGH-6,6
At 16T T fdbedt ﬁ@ﬂﬁ%ﬂ?@ﬁﬂ:

1. A<, B-II, C-1il, DV

2. A-ll, B-IV, C-lil, D

3, A-Il, B-IIl, C-IV, D-|

4, A-), B, C-IV, DI

Options :

6009644413. 1
6009644414. 2
6009644415. 3
6009644416. 4

Question Number : 55 Question Id : 6009641105 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Select the correct option for the one letter code for asparagine, an amino acid.

1.N

2.1
3.A
4.5

Options :

6009644417. 1
6009644418. 2
6009644419. 3
6009644420. 4

Question Number : 55 Question Id : 6009641105 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

URRTI, U 3 3, o g Fafeifd 7 8 U i8R &1 $ls 9T

I.N
2.1
3.A
4.5

Options :

6009644417. 1
6009644418. 2
6009644419. 3
6009644420. 4
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Question Number : 56 Question Id : 6009641106 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match the structure of the bases in Column | with their names given in Column II.

Column | Column Il
NH,
A. J?“ ‘\N . Uracil
rl._ I
NN
H N
NH,
NN |
B. [ /g I, Adenine
N 0
H
0
™
C. T " lIl. Cytosine
N N0
H
0
D. ‘ /'t V. Thymine
N~ 0

~
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H

Choose the correct answer from the options given below.

1. A-IV: B-lI: C-lII; D-I
2. A-I: B-II: C-lIl: D-IV
3, A-ll: B-III: C-IV: D-|

4, A-1V; B-I;

Options :

6009644421. 1
6009644422, 2
6009644423, 3
6009644424, 4

C-II; DI

Question Number : 56 Question Id : 6009641106 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

orad | # v v yRi 3t dkgiei &1 raw 0 A o 37 i A fae i

HIH | Faw I
NH,
A XN A . e
C 1)
ﬁ N
NH,
NN
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C

I, Gt

IV, YT

A feu g foepedt # 4 W@t IR AU

1. A=V, B, C-llI, D1
2. A-l, B-lI, C-lll, D-IV
3. A-ll, B-lIl, C-IV, D
4. A-lV, B-1, C-lI, DIl

Options :

6009644421. 1
6009644422, 2
6009644423, 3
6009644424, 4

Question Number : 57 Question Id : 6009641107 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

The reactivity of the halides (RCI, RBr, RI) with aliphatic amines varies in the order

1.RCl > Rl > RBr

2.RBr> RCl > RI
3.RI > RBr> RCI
4. Rl > RCl > RBr

Options :

6009644425. 1
6009644426. 2
6009644427. 3
6009644428. 4

Question Number : 57 Question Id : 6009641107 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

tfcrtbfed i & T1y gaEel (RCI, RBr, RI) &I Tishddl fd & H 9l o2

1.RCI > Rl > RBr

2.RBr> RCl > RI
3.RI > RBr > RCl
4. Rl > RCl > RBr

Options :

6009644425. 1
6009644426. 2
6009644427. 3
6009644428. 4
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Question Number : 58 Question Id : 6009641108 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The major product (Z) for the following organic reaction

CHO

IS
CHO

1. ¢ l NO,
CHO

HNOy/H,S0,

273-283 K

~

T
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|
NO,

CHO

O:N NO,
Y

NO;

Options :

6009644429. 1
6009644430. 2
6009644431. 3
6009644432. 4

Question Number : 58 Question Id : 6009641108 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

FlafD ffifep

CHO
HNOyH,S0,

213-283K

& foTu g I (2) BT

OHO
1 NO;
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CHO

) @
NO,
CHO
f\l/,m:
NO;
CHO
N i NO,
NO,
Options :

6009644429. 1
6009644430. 2
6009644431. 3
6009644432. 4

3
0
4

Question Number : 59 Question Id : 6009641109 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The major product ‘A for the given organic reaction

KMnO, - H,SO,

-

Heat

will be

4 "COOH
' COOH

Options :

6009644433, 1
6009644434, 2
6009644435. 3
6009644436. 4

Question Number : 59 Question Id : 6009641109 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

A & el e sififoan & fofu e Iae A R g

U

O
OH
104
H
COOH
106

H
COOH
4 COOH

Options :

6009644433. 1
6009644434, 2
6009644435. 3
6009644436. 4

KMnOQg4 - H)S04

Qcollegeduniaa
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Question Number : 60 Question Id : 6009641110 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

What will be the major product ‘A’ for the given organic reaction?

CH,

g Cu
H;C_C‘*CHE —_— A

OH
T
H,C—C=CH;,
CHs
) Hac-c::-cm
OOH
CH,
3 HOHQC—(:Z-CH3
OH
HiC
=
HC
Options :

6009644437. 1
6009644438. 2
6009644439. 3
6009644440. 4

~
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Question Number : 60 Question Id : 6009641110 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Afd & et e aifiiichan & g A’ IarG 31 g

i
HJC_C"‘CHJ
OH

|
CHs
! b-bC—(I:=CH:
CHs
2. H3C—(::—G'13
O0H
CH;
3. HOHC~C-Ch
OH

Options :
6009644437. 1

—

~
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6009644438. 2
6009644439. 3
6009644440. 4

Question Number : 61 Question Id : 6009641111 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Consider the following compounds:
OH OH OH
! | IE | j - “ V- CH4CH,0H

CH, r;ao_ﬁ.
The correct increasing order of the acid strength of the compounds will be

LI<ll <<V
2.V <l <<l
3.I<IV<ll<Ill

4 IV<|<]l<Il

Options :

6009644441. 1
6009644442 2
6009644443. 3
6009644444 4

Question Number : 61 Question Id : 6009641111 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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WWWWWWW

OR OH OH

CH3 NO;

e & Sl el &1 Te) dgdl 9 g

LI<I <<V

2. IV <l <] <II

3.I<IV<Il<II

4. IV <] <l <l

Options :

6009644441. 1
6009644442, 2
6009644443, 3
6009644444. 4

Question Number : 62 Question Id : 6009641112 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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What will be the major product ‘A’ for the given organic reaction?

L
+ M A
major product
P 8 CHal
4
2 | |
N
1
CH
4 .
‘o
Options :

6009644445. 1
6009644446. 2
6009644447. 3
6009644448. 4

Question Number : 62 Question Id : 6009641112 Question Type : MCQ Option Shuftling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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At & et v sifviicean 1 e Farg A a1 g

v

CHl
] O/
CH,
(0
|
CH;l
‘O

Options :
6009644445. 1
6009644446. 2

(W8 Jdi)
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6009644447. 3
6009644448. 4

Question Number : 63 Question Id : 6009641113 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Consider the following compounds:

HO\ H Hy R
g . Ik ne-C, O on
He ©~ /
H, CH HE' CH

Which one of the following is correct?

1.1and |l are chiral
2. 1 and |l are achiral
3. 1is chiral and Il is achiral

4.1is achiral and Il is chiral

Options :

6009644449. 1
6009644450. 2
6009644451. 3
6009644452 4

Question Number : 63 Question Id : 6009641113 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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HO, H W H
4 c
I y \ = ” ﬂ:‘:"‘"t .-\'h':ﬂ
HL C""\F )/
H v"’ H_‘C ‘:-'

(g 4 4 $H-91 T8t ¢?

1.1 3R Il fova &) §
2| 3R 11 3ff¥a g

3| Y aun 1l fa @
4, | f¥a ¢ aun Il fpva g

Options :

6009644449, 1
6009644450. 2
6009644451. 3
6009644452. 4

Question Number : 64 Question Id : 6009641114 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which one of the following hydrocarbons is most acidic?

1. HC=CH

3. H 2C=CH ?

4 H;C—CEC—CH ]
Options :
6009644453 1
6009644454, 2

6009644455. 3
6009644456. 4

Question Number : 64 Question Id : 6009641114 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A4 fo8 T gl A @ Pi-91 G iy 87

1. HC=CH

2. HyC—C=CH

3. H,C=CH;

4, Hy(—C=C—CH;

Options :

6009644453. 1
6009644454. 2
6009644455. 3
6009644456. 4

~
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Question Number : 65 Question Id : 6009641115 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
For the given organic reaction

CHy* H0 —22K, 00 + 3H,

Als

1.PdO
2. Cu
3. Ni
4. Pb

Options :

6009644457. 1
6009644458. 2
6009644459. 3
6009644460. 4

Question Number : 65 Question Id : 6009641115 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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i & Tt Bl rfichar & foru A F g

CHL# ) 2200« Mg

1.PdO

2. Cu
3. Ni
4. Pb

Options :

6009644457 1
6009644458. 2
6009644459. 3
6009644460. 4

Question Number : 66 Question Id : 6009641116 Question Type : MCQ Option Shuftling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The number of sigma () and pi (mr) bonds present in the given compound will be

: H
2
AL
CHs

2

1.260, 31
2.240,4n
3.240,3 1

4260, 4
Options :
6009644461. 1
6009644462. 2
6009644463. 3
6009644464. 4

Question Number : 66 Question Id : 6009641116 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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H R (o) 3U1 U5 () e i o gl

1.26 0,31
2.240,4T
320,311
426041
Options :
6009644461. 1
6009644462. 2

6009644463. 3
6009644464. 4

Question Number : 67 Question Id : 6009641117 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A mixture of phenol and aniline is an example of

1. ideal solution
2. non-ideal solution exhibiting positive deviation from Raoult's law
3. non-ideal solution exhibiting negative deviation from Raoult’s law

4. minimum boiling azeotrope

Options :

6009644465. 1
6009644466. 2
6009644467. 3
6009644468. 4

Question Number : 67 Question Id : 6009641117 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fihetTc 3R THtfer o1 fgor fwfclad # foue 1e Seeeu g2

1. 36 faaaH

2. e Fam @ T fdae gian gan Ud aFred faau
3, X3¢ (OH Y BT foe Guid 530 U 36y fdea
4, e @ drel RS

Options :

6009644465. 1
6009644466. 2
6009644467. 3
6009644468. 4
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Question Number : 68 Question Id : 6009641118 Question Type : MCQ Option Shuftling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The amount of CaCl, ( ( = 2.47) that must be dissolved in 3 litre of water such that its osmotic

pressure is 494 atm at 27 °Ciis

1. 2405 x 10° mol
2. 0.243 mol
3.0.0267 mol
4.1.486 mol
Options :
6009644469. 1
6009644470. 2

6009644471. 3
6009644472. 4

Question Number : 68 Question Id : 6009641118 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
CaCl, (i = 247) @1 g AR, ford 3 effex 9 | A W 27 °C R RNV 314
4,94 atm g1 9T, il

1.2.405x 107> HId
2.0243 11
3,0,0267 el

4, 1.486 Al

Options :
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6009644469. 1
6009644470. 2
6009644471. 3
6009644472. 4

Question Number : 69 Question Id : 6009641119 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Real gases show nearly ideal behaviour at :

1. low pressure and low temperature

2. high pressure and low temperature
3. high pressure and high temperature
4. low pressure and high temperature

Options :

6009644473. 1
6009644474. 2
6009644475. 3
6009644476. 4

Question Number : 69 Question Id : 6009641119 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. g e R g au
2. 39 4 IR FY aU R
3, 3 &Jd 3R Jod a0 R
4 FTEIRTF TR

Options :

6009644473. 1
6009644474. 2
6009644475. 3
6009644476. 4

Question Number : 70 Question Id : 6009641120 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match the following physical constants in Column | to their correct units given in Column Il

Column | | Column Il

A. Rate constant (k) of a second-order reaction| |. m> mol™’

B. Cryoscopic constant, ; [Il.mol™"Ls™
C. van der Waals constant b lIl. No units
D. Compressibility factor Z V. kg K mol™’

Choose the correct answer from the options given below:

1. A-ll; B-IV; C-; D-ll

2. A-lll; B-IV; C-lII; D-l

3. A-ll; Bl C-IV; D-l

4. A-lv; B-I; C-II; D-I
Options :

6009644477 1
6009644478. 2
6009644479. 3
6009644480. 4

Question Number : 70 Question Id : 6009641120 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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$iaW | 7 U 0 siifae o &1 fram sraw 1 # 5T T 3796 AE@ & 91 Pifu

P | ot
A, fetta ife sififdan &1 9 fFadis (k) 1. m? mol™
B, fewidfdig fRRI® ; Il.mol"Ls™"
C. AT i b 1L B P e
D, Witewal Ui 2 V. kg K mol”
A feu Tt fadeul # 9 Wt SR

1. A-ll, B-IV, C, DIl
2. A-ll, BV, C-lI, D
3. A-ll, B-llI, C-IV, Dl
4. A-1V, B, C-II, D-lll

Options :

6009644477. 1
6009644478. 2
6009644479. 3
6009644480. 4

Question Number : 71 Question Id : 6009641121 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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For the reaction of cyanamide NH,CN(g) with O, in a bomb calorimeter, AU was found to be -740
kJ/mol at 300 K. The enthalpy change for the reaction

NH,CN ¢ +goz g >Ny g +COy g +HO |

will be

1. - 507.1 kJ/mol
2.-1987.1 kJ/mol
3.-738.75 kJ/mol
4.-741.2 kJ/mol

Options :

6009644481. 1
6009644482. 2
6009644483. 3
6009644484. 4

Question Number : 71 Question Id : 6009641121 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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foall & iRy | AEHIES NH,CN(g) D1 0, B 3if¥fehal & fT, 4U @19 300 K TR -740
kJ/mol T 11| 39 if¥fchan & ferw TRied! afadH g

3
NH,CN(g)+ 3 0,(g) - N,(g)+ CO,(g)+ H,0(1)

1. - 507.1 kJ/mol
2.~ 1987.1 kJ/mol
3.-738.75 kJ/mol
4.-741.2 kJ/mol

Options :

6009644481. 1
6009644482. 2
6009644483. 3
6009644484. 4

Question Number : 72 Question Id : 6009641122 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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The correct expression out of the following is

1.AU = AH + An,RT
2.C, = C, = R for 1 mole of a non-ideal gas

3. AS,; > 0 for a spontaneous process

AG
= ()
RT

Options :

6009644485. 1
6009644486. 2
6009644487. 3
6009644488. 4

Question Number : 72 Question Id : 6009641122 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fmffed # 9 -9 oo gl 87

1.AU = AH + AnpRT

2,cp_cl,=3d$ﬁ&ﬁﬁﬂﬂﬂ$1mﬂ$ﬁﬂ)

Options :
6009644485. 1
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6009644486. 2
6009644487. 3
6009644488. 4

Question Number : 73 Question Id : 6009641123 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If the equilibrium constant for a reaction aa + b8 == ¢C + 4D IS K, then the equilibrium constant for
the reaction naA+nbB === ncC+ndD will be equal to

1YF,
2 (k)"

3 K
n

4 nK,

Options :

6009644489. 1
6009644490. 2
6009644491. 3
6009644492. 4

Question Number : 73 Question Id : 6009641123 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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e, 34ffdhal aA + bB = cC + dD & foU Ty RRI® K. ©, 7d aif¥fgpan
naA + nbB 2 ncC + ndD$fﬂEWW§Fﬂ:

nf1r
1.,Hfht_

4.nK,

Options :

6009644489. 1
6009644490. 2
6009644491. 3
6009644492. 4

Question Number : 74 Question Id : 6009641124 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The pH of a buffer solution formed by mixing 25 mL of 0.2M NH,Cl and 50 mL of 0.1M of NH;
solution at 25 °C s

(Given pKy (NH;) = 475)

1.4.75
2.4.45
3.5.05
4,9.25

Options :

6009644493, 1
6009644494, 2
6009644495. 3
6009644496. 4

Question Number : 74 Question Id : 6009641124 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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25°C TR 0.2 M NH,Cl & 25 mL 3R 0.1M NH faea & 50 mL &1 el R &9 a1el 90 faad &1
pHEfW:

[ 1T R pK, (NH3) = 475

1.4.75
2.445
3.5.05
4,9.25

Options :

6009644493, 1
6009644494, 2
6009644495, 3
6009644496. 4

Question Number : 75 Question Id : 6009641125 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following salts will not give rise to an acidic solution when dissolved in water?

1. HCOONa
2. NH,Cl

3. NHsNO;
4. (NHy);504

Options :
6009644497. 1
6009644498. 2

gcollegeduniaa
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6009644499. 3
6009644500. 4

Question Number : 75 Question Id : 6009641125 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
ATl & T -1 U ot # Wi R 3w foerd @i G

1. HCOONa
2. NH,Cl

3. NHsNO:;
4. (NH4),S04

Options :

6009644497. 1
6009644498. 2
6009644499 3
6009644500. 4

Question Number : 76 Question Id : 6009641126 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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In the reaction 2Cu,0(s) + Cu,S(s) = 6Cu(s) + S0,(g), species which acts as an oxidant is

1.0 (-lI)

2.5 (-I)

3. Cu (I)

4.Cu(0)
Options :
6009644501. 1
6009644502. 2

6009644503. 3
6009644504. 4

Question Number : 76 Question Id : 6009641126 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

1 TR R ST 20u,0(s) + Cu,$(s) - 6Cu(s) + 50, (g) ¥ PI1-¥l It SR
(SU®) Pi Hifd B Bl 67

1.O(-1)
2.S(-1)
3. Cu (l)
4,Cu (0)

Options :

6009644501. 1
6009644502. 2
6009644503. 3
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6009644504. 4

Question Number : 77 Question Id : 6009641127 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

How much electricity in terms of Faraday is required to produce 20 g of Al from molten Al,O;?

L.222F

2.222F
3.444 F
4111F

Options :

6009644505. 1
6009644506. 2
6009644507. 3
6009644508. 4

Question Number : 77 Question Id : 6009641127 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Tierd ALO; 8 20 g Al 33 HX1 & o0 4TS & Ual # el fagd &1 Sa<adal gl

1.222F

2.222F
3.444F
4111F

Options :
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6009644505. 1
6009644506. 2
6009644507. 3
6009644508. 4

Question Number : 78 Question Id : 6009641128 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The dispersal of a precipitated material into colloidal solution by the action of an electrolyte in
solution is called

1. coagulation

2. dialysis

3. peptization

4. ultrafiltration
Options :
6009644509. 1
6009644510. 2

6009644511. 3
6009644512. 4

Question Number : 78 Question Id : 6009641128 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

L ]
gcollegedunlaa
India’s largest Student Review Platform

T



forelt ot o fopelh qga-ormwrea 3t fovn gy gt faere  sraefiia e @1 aReior Fga §

1. %

2. UG
3, U
4, W<

Options :

60096445009. 1
6009644510. 2
6009644511. 3
6009644512. 4

Question Number : 79 Question Id : 6009641129 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Consider the following facts :

A. Copper solution can be stirred with a silver spoon

B. Zinc solution can be stirred with a silver spoon
C. Copper solution cannot be stored in a zinc pot
Based on the above facts, choose the correct order of the standard reduction potential of Cu®*/Cu;

In**/Zn and Ag*/Ag.

1 Bt > E'sgting > 'ttt
2. E'pdtion < E'agtiag < Btz
3, Enﬂl*f'ﬂl > E'Cu:"fm > E'Zn:*‘fza
4 Byt gy > E'dtioy > E'sgt/ag

Options :

6009644513. 1
6009644514. 2
6009644515. 3
6009644516. 4

Question Number : 79 Question Id : 6009641129 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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% 9l R (R Biford

A PR fdaud 1@ ReaR 9w 9 fadiisT o 9l ¢

8. foid faera @i Riear 9w 1 fadiieT o ¥adi ¢

C. PR oo @i i & o0 & Wifed Te ool o 9el ¢

JRIG dul & YR W Cu*/Cu; Zn?*/Zn TUT Ag*/Ag & A U0 [dHd &1 Fgl 4 iU

1. E'm:*lr,'cu > E'M+,'FA' > E.zﬂ:+|"1ﬁ
2' Eacu:#f,'cu < E'M+)‘A‘ < E'Iﬂ:+;'|1n
3. % ag > E'ottien > E'natt i
4. E nzn:*lf.zn > E 'Cu:+ /Cu >E 'A“*IM‘

Options :

6009644513. 1

6009644514. 2

6009644515. 3
6009644516. 4

Question Number : 80 Question Id : 6009641130 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following statements about a catalyst is incorrect?

1. A catalyst cannot catalyse a non-spontaneous reaction.

2. A catalyst provides an alternate pathway to the reaction by reducing the activation energy.
3. A catalyst alters the thermodynamic parameters like AG of a reaction.
4. A catalyst helps to attain equilibrium faster but does not change the equilibrium constant.

Options :

6009644517. 1
6009644518. 2
6009644519. 3
6009644520. 4

Question Number : 80 Question Id : 6009641130 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

forelt FaRe & fawa # A foan T BiA-T o g T &7

1, Blg SRS (il Tq: Tel il arel iishdl i ISING Tel X Gl 6

2. BI3 IIRE Tl il I FH S ANHU $I D13 dpfedd U4 WaGH Bl ¢l

3, 15 JORS (4! AR & AG ol FWIPIY WIEIel (MFGS)) $I Uae &l gl

4, IS JORD RG] A ¥ Ferell Bl &, Req A1 RRid 1 uivafeld el el ¢

Options :

6009644517. 1
6009644518. 2
6009644519. 3
6009644520. 4
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Question Number : 81 Question Id : 6009641131 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

For a reaction with activation energy 210 kJ/mol at 300 K, the fraction of molecules having energy
equal to or greater than the activation energy is

1. 2303 log(-84.19)
2108412

3. exp(-84.19)

4. In(-8526.18)

Options :

6009644521. 1
6009644522, 2
6009644523. 3
6009644524 4

Question Number : 81 Question Id : 6009641131 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

300 K TR 210 k)/mol Sichau il arelt foet aififopan & ferw spujaif @1 ag i, forga! Soll oo
Joll o &I 71 3114 gielt ¢, g

1.2.303 log(-84.19)
21074

3. exp(-84.19)

4. In(-8526.18)

Options :

~

T

collegedunia:s

India’s largest Student Review Platform



6009644521. 1
6009644522 2
6009644523. 3
6009644524, 4

Question Number : 82 Question Id : 6009641132 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A sol of hydrated ferric oxide prepared by adding FeCl; to excess of hot water is

1. positively charged due to the adsorption of H* ions

2. negatively charged due to the adsorption of OH™ ions
3. positively charged due to the adsorption of Fe** ions
4, positively charged due to the adsorption of Fe?* ions

Options :

6009644525. 1
6009644526. 2
6009644527. 3
6009644528. 4

Question Number : 82 Question Id : 6009641132 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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TH S & AR H FeCl; Faa & T Seriford e sidss fdem
gl g

1. H* 31l & SO0 & HRUT 4 AR
2. OH™ 31T & SATIoT & HRO B 1A
3, Fe3* A1 & YT b PR ¢ AU
4 Fe* 3T & AU & SR 4 AU

Options :

6009644525. 1

6009644526. 2

6009644527. 3
6009644528. 4

Question Number : 83 Question Id : 6009641133 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Density of 2 M solution of NaCl is 1.25 g mL™". The molality of the solution is

1.279m

2.143m
3.1.76m
4.1.66m

Options :

6009644529. 1
6009644530. 2
6009644531. 3
6009644532. 4
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Question Number : 83 Question Id : 6009641133 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
NaCl & 2 M faeia &1 9 1.25 g mL—" ©1 39 fdeid @1 Aieieidl & -

1.279m
2.143 m
3.1.76m
4.1.66m
Options :
6009644529. 1
6009644530. 2

6009644531. 3
6009644532. 4

Question Number : 84 Question Id : 6009641134 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

On the basis of magnetic property, magnetite is classified as

1. ferromagnetism

2. ferrimagnetism
3. antiferromagnetism
4. diamagnetism

Options :
6009644533. 1
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6009644534. 2
6009644535. 3
6009644536. 4

Question Number : 84 Question Id : 6009641134 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Jrg 1 UM & YR R AUCTge P bRl fufcrad A 3 fog w0 # fm o 2

1, WggHd
2.1 Q1_15§1355ﬁ VREISET)
3, Yid-legadd

4, Yfcgradd

Options :

6009644533. 1
6009644534. 2
6009644535. 3
6009644536. 4

Question Number : 85 Question Id : 6009641135 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Energy of radiation in eV for | = 300 nm (1 eV = 1.6020 x 10" )) is

1.3.98 eV

2.3.25¢eV
3.2.68 eV

4414V

Options :

6009644537. 1
6009644538. 2
6009644539. 3
6009644540. 4

Question Number : 85 Question Id : 6009641135 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

\ = 300 nm & foiU eV H fafchur &1 Tt gt § (1 eV = 1.6020 x 10°19))

1.3.98 eV

2.3.25¢eV
3.268 eV
4414 eV

Options :

6009644537. 1
6009644538. 2
6009644539. 3
6009644540. 4

~

T

collegedunia:s

India’s largest Student Review Platform



Question Number : 86 Question Id : 6009641136 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match the scientists in Column | with the concept/discovery associated with them given in Column
|

Column| Column |l

A. Johann Dobereiner |. Krypton and Xenon

B. Ramsay Il Law of Octave
C. Peter Debye Il Law of Triads
D. John Alexander Newland! V. X-ray diffraction

Choose the correct answer from the options given below:

1. A-l, B-II, C-lIl, D-IV
2. A-lll, B-1, C-IV, D-Ii
3. A-l, B-lII, C-IV, D-Il
4. A-lll, B-1, C-II, D-IV

Options :

6009644541. 1
6009644542. 2
6009644543. 3
6009644544. 4

Question Number : 86 Question Id : 6009641136 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

collegedunia:s

India’s largest Student Review Platform



Fiaw | 7 U 0 S &1 e tem 11 < et 3 Ueg Eiel/Aded @ Sifoe

FIeH | | Frem Il
A, g SIaIER | oA 3R o
B. 3 1, 9% 1 Fram
C. iR 3913 11, B 1
D. Wi JfeidlSt FalTS v, x-fon
A feu e fadel ¥ 4wt SR e
1, A, B, C-IIl, DAV
2. A-lll B, C-IV, D-I
3, A-l, B-lll, C-IV, Dl
4, A-lll, B, C-II, D-IV

Options

6009644541. 1
6009644542 2
6009644543. 3
6009644544. 4

Question Number : 87 Question Id : 6009641137 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The bond order and magnetic behaviour of C; molecule is

1. 3 and paramagnetic

2. 2 and paramagnetic
3. 3 and diamagnetic

4.2 and diamagnetic

Options :

6009644545. 1
6009644546. 2
6009644547. 3
6009644548. 4

Question Number : 87 Question Id : 6009641137 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

C, 3V T 316 0 741 TP IGR lel ¢

Options :

6009644545. 1
6009644546. 2
6009644547. 3
6009644548. 4
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Question Number : 88 Question Id : 6009641138 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The bond dissociation enthalpy for a single bond between two atoms is highest for

1. F-F

2. H-H

3.Cl-Cl

4. Br-Br
Options :
6009644549. 1
6009644550. 2

6009644551. 3
6009644552. 4

Question Number : 88 Question Id : 6009641138 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
&l vyt & dfd U e o foru Fafated A 9 fod forg s faaiom TRl S gl 62

1. F-F
2. H-H
3. CI-Cl
4. Br-Br

Options :
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6009644549. 1
6009644550. 2
6009644551. 3
6009644552, 4

Question Number : 89 Question Id : 6009641139 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

On heating, lithium nitrate gives

1. LINO,
2.1i,0+NO, + 0,
3, LiNO, + i

4.Li + NO,

Options :

6009644553. 1
6009644554. 2
6009644555. 3
6009644556. 4

Question Number : 89 Question Id : 6009641139 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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T P R AifNgH Agee adl 6

1. LINO,
2.1i,0+NO, + 0,
3,LiNO; + L
4.1i + NO;

Options :

6009644553. 1
6009644554. 2
6009644555. 3
6009644556. 4

Question Number : 90 Question Id : 6009641140 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

When borax is heated with CoO in a Bunsen burner flame on a loop of platinum wire, a blue
coloured bead is formed. The bead is of

1. CoBO,
2 CO(BOQ) ]
3. CO(BO::) ,
4. Co(8O),

Options :
6009644557. 1
6009644558. 2
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6009644559. 3
6009644560. 4

Question Number : 90 Question Id : 6009641140 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Ve WifesT o dR o U1 H CoO 1 IR o U1 §4 &R I el H a fohd St €, ff U il vl
! AfvT (413) &l ¢ | AT ol §, T 6

1. CoBO,
2. Co(BO,);
3. CO(BO;];
4. Co(BO 2) ,
Options :
6009644557. 1
6009644558. 2

6009644559. 3
6009644560. 4

Question Number : 91 Question Id : 6009641141 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following is an amphoteric oxide?

1.0,

2.5i0,

3. GEOg

4, PbO;
Options :
6009644561. 1
6009644562. 2

6009644563. 3
6009644564. 4

Question Number : 91 Question Id : 6009641141 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ffafad & o-a1 sy siqEs 82

1.CO,
2. 50,
3. GeO,
4. PbO;

Options :

6009644561. 1
6009644562. 2
6009644563. 3
6009644564. 4

~
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Question Number : 92 Question Id : 6009641142 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Zone refining method is used to purify

1. boron

2. barium
3. sodium
4. magnesium

Options :

6009644565. 1
6009644566. 2
6009644567. 3
6009644568. 4

Question Number : 92 Question Id : 6009641142 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

AU GRS (i Reprgm) faft 1 Swai fgfeitad o 3 fdgan UivH & o fou foa o g2

1. 9RH
2 qINTH
3, gifsTH

4, iR

Options :
6009644565. 1
6009644566. 2
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6009644567. 3
6009644568. 4

Question Number : 93 Question Id : 6009641143 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Following resonating structures for nitrogen (1) oxide are suggested

A N:N:Q
a:Q-N:Q
C. N=N-O:
. 0=N-0:

Which of them is/are correct?

1.Aand C
2.Only A
3.Aand B

4 CandD
Options :
6009644569. 1
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6009644570. 2
6009644571. 3
6009644572. 4

Question Number : 93 Question Id : 6009641143 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

AZeiaH (1) Hidarse & fou g sFifed Wit wefifdd g

A N=N=0

B. O—N:O

C. NEN-QT

D. 0=N-0:
IR # Y P-4 W /S
1LARC

2. Hdd A

3Ame
4. C3RD

Options :
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6009644569. 1
6009644570. 2
6009644571. 3
6009644572, 4

Question Number : 94 Question Id : 6009641144 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

How many o and 1t bonds are present in peroxodisulphuric acid?

1.100, 4

2110, 4n
3.100,3 1
4110, 3

Options :

6009644573. 1
6009644574. 2
6009644575. 3
6009644576. 4

Question Number : 94 Question Id : 6009641144 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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UR-HFISIEHRIND 3w ¥ b o R v 316 UG &7

1.100,47
2110,4n
3100, 37
411037
Options :
6009644573. 1
6009644574. 2

6009644575. 3
6009644576. 4

Question Number : 95 Question Id : 6009641145 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If X and X'are halogens, select the correct option for the general formula of their perhalate,
hypohalite, halite and halate respectively.

1,00, 0 XX, 300
2 XX, XX, XX'3, XX's
3 XX, XX3, XX's, XX5
4 XX's, XX'7, XX, XX

Options :

6009644577. 1
6009644578. 2
6009644579. 3
6009644580. 4
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Question Number : 95 Question Id : 6009641145 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
e X IR X' §EIoH ¢, al HAY: 37 e, SRUIRaIse, gae 3R guc & G- T &1 Tgl fdbed
g

13005, 200, 306, € s
2. 0¢, Y0C'7, X3, XX
3, XX, X3, XK's, XX7
0 YO0

Options :

6009644577. 1
6009644578. 2
6009644579. 3
6009644580. 4

Question Number : 96 Question Id : 6009641146 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of following group 18 elements does not form fluoride?

1. He

2. Xe
3. Kr
4 Rn

L ]
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Options :

6009644581. 1
6009644582. 2
6009644583. 3
6009644584. 4

Question Number : 96 Question Id : 6009641146 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

UG 18 FI DH-81 ded FHRIZS Tal &1 ¢7

1. He

2. Xe
3. Kr
4. Rn

Options :

6009644581. 1
6009644582. 2
6009644583. 3
6009644584. 4

Question Number : 97 Question Id : 6009641147 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following matches between the process and the catalyst used is incorrect?

1. Contact process -V,0s

2. Haber's process - Mo
3. Catalytic hydrogenation - Ni
4. Stephen reaction - SnCl

Options :

6009644585. 1
6009644586. 2
6009644587. 3
6009644588. 4

Question Number : 97 Question Id : 6009641147 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fAgfciid @ € fU U b 3R TUH WY G Tl SRS & e e Bl g

1, G0 UHH-V,0x
2. 3R UHH- Mo

3, JARD! FIZGIHID - Ni
4, %W H¥HIHaI - SnCly

Options :

6009644585. 1
6009644586. 2
6009644587. 3
6009644588. 4
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Question Number : 98 Question Id : 6009641148 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following statements is correct?

1. Ce** is a strong reductant

2. Eu®* is a strong oxidant
3, Yb®* is a reductant.

4, Tb** is a reductant.

Options :

6009644589. 1
6009644590. 2
6009644591. 3
6009644592. 4

Question Number : 98 Question Id : 6009641148 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fAgfid # 8 1H-71 $49 gl 7

1. Ce** U9 Va0 AE ¢
. Eu?* U Jad SUAI® ¢
3, Yb?* Ud UGS §
4, Tb** 0% AN ¢

Options :
6009644589. 1
6009644590. 2
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6009644591. 3
6009644592. 4

Question Number : 99 Question Id : 6009641149 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

You are given the following complexes :
[MnClg]*", [FeFg]* and [CoFg]*

The number of unpaired electrons respectively will be (consider these complexes as high spin
complexes)

1.54,4
24,45
3.4,5,4
4.54,5

Options :

6009644593. 1
6009644594. 2
6009644595. 3
6009644596. 4

Question Number : 99 Question Id : 6009641149 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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[MnClg?, [FeFg 3R [CoFg*
T Sfd SaidcT o T HHY: BT (5 Tpall Bl Id YUl bl 7 aiiforg)

1.54,4
2.4,4,5
3.4,54
4545

Options :

6009644593. 1
6009644594. 2
6009644595. 3
6009644596. 4

Question Number : 100 Question Id : 6009641150 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
d-orbital splitting in an octahedral crystal field is

1. (0.4) A, above barycentre and (0.6) A, below barycentre
2.(0.4) A; below barycentre and (0.6) A; above barycentre
3. (0.4) A: above barycentre and (0.6) A; below barycentre
4.(0.4) A, below barycentre and (0.6) A, above barycentre

Options :
6009644597. 1
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6009644598. 2
6009644599. 3
6009644600. 4

Question Number : 100 Question Id : 6009641150 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

0% AFBaADY fhecd 87 7 d-H&d [que ¢ -

1.(04) A, T5P & FR 3R (0.6) A, F5P & i
2. (04) A 5 & 1 3R (0.6) & PGP b FW
3, (0.4) A B5dD & HW AR (0.6) A D5 & Al
4, (04) A, T5P & 1 3R (0.6) A, D5 B HW

Options :

6009644597. 1
6009644598. 2
6009644599. 3
6009644600. 4

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Display Number Panel :

Part C Mathematics

60096424
3

Online
Mandatory
50

50

200

Yes

-

T
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Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 60096424
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 6009641151 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let A and B be two sets containing 3 elements and 2 elements respectively. Then, the number of
subsets of A x B having 2 or more elements is

1. 64
2.51
3.63
4.47

Options :

6009644601. 1
6009644602. 2
6009644603. 3
6009644604. 4

Question Number : 101 Question Id : 6009641151 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A e s A 3R B HH: 3 3faTal R 2 3faud] arl < G 1 39 A x B P 2 U1 3 sl
dTel SUGH=l B e ¢

1. 64
2.5]
3.63
4.41

Options :

6009644601. 1
6009644602. 2
6009644603. 3
6009644604. 4

Question Number : 102 Question Id : 6009641152 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If 27 (x) + f(i) = logx, for all x > 0, then f(ex) is

Options :
6009644605. 1
6009644606. 2
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6009644607. 3
6009644608. 4

Question Number : 102 Question Id : 6009641152 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T G4l ¢ > o P [T 2f(x) -f(%) = logx 6, d f('ex);E:

l. x4
2. X
3. 2X
42
:

=

Options :

6009644605. 1
6009644606. 2
6009644607. 3
6009644608. 4

Question Number : 103 Question Id : 6009641153 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Let £:[0,1] = [0, 1] be defined by

f(x) = x , if xisrational
7 1-x , ifxisirrational
Then f o f(x) s

1. x

2. x°

3 x+1

4. not defined

Options :

60096446009. 1
6009644610. 2
6009644611. 3
6009644612. 4

Question Number : 103 Question Id : 6009641153 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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| ¥ o Wtk
1—-x qﬁ:rmg
a1 aRMIfa 2
Gfoflx)t
1. x
2 x4
3.x+1
4, oRefi Tl
Options :

6009644609. 1
6009644610. 2
6009644611. 3
6009644612. 4

Question Number : 104 Question Id : 6009641154 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Period of the function f(x) = sin* x + cos*x IS

1.

2. 21
- e

4,

| S

Options :

6009644613. 1
6009644614. 2
6009644615. 3
6009644616. 4

Question Number : 104 Question Id : 6009641154 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

B f(x) = sin* x + cos* x P 3 ¢

1.
2. 21

g
4
4

S

Options :

6009644613. 1
6009644614. 2
6009644615. 3
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6009644616. 4

Question Number : 105 Question Id : 6009641155 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The base of a triangle is 80 ¢cm and one of the base angles is 60°. The sum of the lengths of the
other two sides is 90 cm. Then the length of the shortest side is

1.18 cm
2. 16 ¢cm
3.17cm
4,13 cm

Options :

6009644617. 1
6009644618. 2
6009644619. 3
6009644620. 4

Question Number : 105 Question Id : 6009641155 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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[l P4 T 3M14R 80 cm © YT TR PV Y U BIV 60° BT 1 344 &l Holaf] i ciarzal &1 g
90 cm | 79 T BIC 4 PI TS ¢

1.18 cm
2.16 cm
3. 17 ¢cm
4.13 cm

Options :

6009644617. 1
6009644618. 2
6009644619. 3
6009644620. 4

Question Number : 106 Question Id : 6009641156 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If tan™ (E) = 2tan~!y, then the value of x is

Options :
6009644621. 1
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6009644622. 2
6009644623. 3
6009644624. 4

Question Number : 106 Question Id : 6009641156 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Hﬁi’mn"(ﬂ) = 2tan~1x &, AXDIAF G

1+x

n
1. tan-

Options :

6009644621. 1
6009644622. 2
6009644623. 3
6009644624. 4

Question Number : 107 Question Id : 6009641157 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The number of 2 x 2 matrices A, with each element as a real number and satisfying 4 + AT = and

ATA=11s

1.0
2.1
3.2
4. infinitely many

Options :

6009644625. 1
6009644626. 2
6009644627. 3
6009644628. 4

Question Number : 107 Question Id : 6009641157 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
2 x 2 oGl A B He, a1 Udld 3aud U dRdfdd GBI e aul ol g+ 47 =1 AR 474 = B
AP F e
1.0
2.1
3.2
4, SURAT €7 31

Options :

6009644625. 1
6009644626. 2
6009644627. 3
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6009644628. 4

Question Number : 108 Question Id : 6009641158 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
0 b-a c-a
fA=la-b 0 c¢-pl thenAequals
a=-¢ b-c 0

lL.(a+b+c)

2 ~(a+b+c)
3. ab¢
4.0

Options :

6009644629. 1
6009644630. 2
6009644631. 3
6009644632. 4

Question Number : 108 Question Id : 6009641158 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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0 b-a c-a|. . :
MeA=|a-b 0 c-b|C AARRE

a-¢ b-¢c 0

l.(a+b+c)
2 ~(a+b+c)
3. abc
4.0
Options :
6009644629. 1
6009644630. 2

6009644631. 3
6009644632. 4

Question Number : 109 Question Id : 6009641159 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

log(1-x+x%)+log(1+x+x?
Sec X — COSX

rz0

Let f(x) =

Then the value of £(0) so that fis continuous at x = 0, is

1.0

2.2
3.1

4!
)
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Options :

6009644633. 1
6009644634. 2
6009644635. 3
6009644636. 4

Question Number : 109 Question Id : 6009641159 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

]:{H‘ﬁ‘ﬁ{qﬁgf lng 1-x4x" )+log(14x4x") 11:0%”&@;(: qufaiﬂaaﬁﬁfﬁmlf[o)aﬂﬂﬂg

§8C X—Cosx

1.0
2.2

3.1
41

.

-

Options :

6009644633. 1
6009644634. 2
6009644635. 3
6009644636. 4

Question Number : 110 Question Id : 6009641160 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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If f(x +y) = f(x) f(y) for all x,y € R such that f(5) = 2 and f'(0) = 3, then the value of £'(5)is

1.6
2.2
3,3
2
4,3
Options :
6009644637. 1
6009644638. 2

6009644639. 3
6009644640. 4

Question Number : 110 Question Id : 6009641160 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

el y € RN f(x 4 y) = f(x): f3) IFRE [ f(5) =2 3R f (0) =3, f (5) 17
¢

1.6
2.2

33
:

4.3
Options :
6009644637. 1
6009644638. 2
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6009644639. 3
6009644640. 4

Question Number : 111 Question Id : 6009641161 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let y = f[ﬁ) satisfies £(1) = 2. Then the value of j_‘ at y = 0 equals
. F X

1.1

2.2

3.0

4.3

Options :

6009644641. 1
6009644642. 2
6009644643. 3
6009644644. 4

Question Number : 111 Question Id : 6009641161 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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AN y = ¢ () £ (1) = 2 31 TP FA I Ty = g RLPIATE

1.1
2.2

3.0
4.3

Options :

6009644641. 1
6009644642. 2
6009644643. 3
6009644644. 4

Question Number : 112 Question Id : 6009641162 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The maximum value of the function f(x) = (x - 1)(x - 2)(x - 3) I

WP
| | Kt s

| ad
—
wal

-

wal

3

Options :
6009644645. 1
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6009644646. 2
6009644647. 3
6009644648. 4

Question Number : 112 Question Id : 6009641162 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

B f(x) = (x =1)(x=2)(x = 3) P! I H A §

M~

- | I—-." | ~J
o wl wal

'_....I-_I
%]
—_—
wal

4

wal

3V

Options :

6009644645. 1
6009644646. 2
6009644647. 3
6009644648. 4

Question Number : 113 Question Id : 6009641163 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The equation of tangent to the curve y2/3 4 y2/3 = q2/3 at (g, 0) passes through which of the
following points?

— — — —

o ™~ o
D O 0

Options :

6009644649. 1
6009644650. 2
6009644651. 3
6009644652. 4

Question Number : 113 Question Id : 6009641163 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

G5b 203 4 y2/3 = o3 B (0, 0) T WS- g 9 o felg @ g ol &2

0
2,
0
a

I

P W P —a

1
A
1
A

O o O O

)
)
)
,0)

Options :
6009644649. 1
6009644650. 2
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6009644651. 3
6009644652. 4

Question Number : 114 Question Id : 6009641164 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
1

:| :-a:

If [ f(x)- sinxcosx dx= log( f(x)) +C, then f(x) is

1

a* sin® .Hl-b:cus:x

a°sin® x - b* cos*x
|

acos*x + bsin®x
1

acos’x - bsin® x

1

2
3

-

Options :

6009644653. 1
6009644654. 2
6009644655. 3
6009644656. 4

Question Number : 114 Question Id : 6009641164 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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qﬁ_[f(x)'smxcosx dx = — 'IOE(JF(I))‘*C%rEﬁf(—‘r);6

-
o | - -
2(0°=a®)

1

a*sin® x + b cos® x
|

a® sin® x — b* cos® x
1

acos® x+ bsin® x
1

a® cos® x — b® sin® x

1

2

3

-

Options :

6009644653 1
6009644654. 2
6009644655. 3
6009644656. 4

Question Number : 115 Question Id : 6009641165 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

VX
dx =

Let [ =
vl-

wr | va

» |

1. f('.[‘) = 1.'.,
2 f(x)=x

3. g(t) = 51]'11

vl

4 g(x) = Vsinx

Options :
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6009644657. 1
6009644658. 2
6009644659. 3
6009644660. 4

Question Number : 115 Question Id : 6009641165 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

i o & [ gy =

V=g 3

.go f(x)+ €8I T

I f(x) =x
) 3
flx) =22
3. g(x) =sinx
4gh)=igg;

Options :

6009644657. 1
6009644658. 2
6009644659. 3
6009644660. 4

Question Number : 116 Question Id : 6009641166 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The area bounded by the parabola y2 = gy, its normal at point (2, 4), and x-axis in the first quadrant
1S

1L = 5q. units

3

2 B $q. units

3
3 28

3

4,8 sq. units
3
Options :
6009644661. 1
6009644662. 2
6009644663. 3
6009644664. 4

5q. units

Question Number : 116 Question Id : 6009641166 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

R 32 = gy IR 45 (2, 4) W TP HfFeia aul x-34e) G w7 R 41 1 8

1.???'
2.?#
3. 2

4.§aﬁzfﬁr£

Options :

133

~

T
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6009644661. 1
6009644662. 2
6009644663. 3
6009644664. 4

Question Number : 117 Question Id : 6009641167 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The solution of differential equation cos(x +y) dy = dx IS given by

1.y = xsec (%)+C

Options :

6009644665. 1
6009644666. 2
6009644667. 3
6009644668. 4

Question Number : 117 Question Id : 6009641167 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

-
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Wﬂfﬁm (x+y) dx-dxﬁﬂﬁgqﬁwmmm7

1.y = xsec ( )
2.y+cos™ ()

x+n
31"1311( +C
r S
X+ V)
( j+C

4. y = cot

Options :

6009644665. 1
6009644666. 2
6009644667. 3
6009644668. 4

Question Number : 118 Question Id : 6009641168 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The  degree  of the  differentill  equation  satisfying  the  relation

VIF + 14y =0(x JT+)y? -y VTH37) is

1.1
2.2

3.4
4. not defined

Options :
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6009644669. 1
6009644670. 2
6009644671. 3
6009644672. 4

Question Number : 118 Question Id : 6009641168 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Y T2 + 157 = Nx {197 -y V13 7) P UG8 T a1l S FHIGRY Dl 91 ©

L]

2.2

3.4

4. URMING Tl
Options :
6009644669. 1
6009644670. 2

6009644671. 3
6009644672. 4

Question Number : 119 Question Id : 6009641169 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A vector ¢ perpendicular to the vectors g=j-2j+3k and p=2i+3j-k and satisfying
¢ (i+j-k)==71s

1.26-; +k)

: %(I J

2. E(—I +j + i)
396G -j+k)
L(-i+j+k)

Options :

6009644673. 1

6009644674. 2

6009644675. 3
6009644676. 4

Question Number : 119 Question Id : 6009641169 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

TR & TG 3 = - 25 43k M b= 214 3~k RATIZ. (20 4] - k) = -7 PP R e

7 i
2-5(-i+j+k)

37(i-j+k)
41(-i+j+k)
Options :
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6009644673 1
6009644674. 2
6009644675. 3
6009644676. 4

Question Number : 120 Question Id : 6009641170 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The three vertices of a parallelogram ABCD are A (1, 2, 3), B(-1, -2, -1)and C (2, 3, 2). The
coordinates of the fourth vertex D are

1.(-2 -3,0)
2.(4,7,6)
3.(2,3,4)
4.(-2 -3,4)
Options :
6009644677. 1
6009644678. 2

6009644679. 3
6009644680. 4

Question Number : 120 Question Id : 6009641170 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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foreft Wik T ABCD F AT L A (1, 2, 3), B(-1, -2, -1) R € 2, 3, 2) §1 A o D & e

1.(-2,-3,0)
2.(4,7,6)
3.(2,3,4)
4.(-2, -3,4)
Options :

6009644677. 1
6009644678. 2
6009644679. 3
6009644680. 4

Question Number : 121 Question Id : 6009641171 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Thelines y =py+q,z=ry+sandx=py+q, z=r'y +s’ are perpendicular to each other, if

=1

2.

: 1

P -::_11::

43
q
P _
"
Spp+rr+1=0

4pg'-pg+1=0

Options :
6009644681. 1
6009644682. 2

~

T
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6009644683. 3
6009644684. 4

Question Number : 121 Question Id : 6009641171 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

W

@mQr=py+@:=ry+smﬂr=py+m::ry+¢7ﬁmqﬁaﬁqﬁ

1 otm=1

P q
2-8—.}.&:1

q q

Spp +rr +1=0
4pqg-pq+1=0
Options :

6009644681. 1
6009644682. 2
6009644683. 3
6009644684. 4

Question Number : 122 Question Id : 6009641172 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The image of a point A (1, 3, 4) in the plane 2y -y 424+ 3 =018

1.(=3,5 2
2.(51,6)
3.(3, =5 -
4.(5,-1,6)

Options :

6009644685. 1
6009644686. 2
6009644687. 3
6009644688. 4

Question Number : 122 Question Id : 6009641172 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A 26— y + 2+ 3 =0 119G A (1, 3, 4) Pl Hlafera 8

5, -1,6)

Options :

6009644685. 1
6009644686. 2
6009644687. 3
6009644688. 4

~
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Question Number : 123 Question Id : 6009641173 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

From 10 tickets numbered 1, 2, 3, .., 9, 10; three tickets with numbers a, b, and ¢ (@ < b < ¢) are
drawn at random. Then the probability that the numbers on them are in AP, is

[ J—

- Lo
O | —— L ==L D
::"'—‘

Options :

6009644689. 1
6009644690. 2
6009644691. 3
6009644692. 4

Question Number : 123 Question Id : 6009641173 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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10 fedel 4 9, o g8t 1, 2,3, .., 9, 10 ferdl 83 &, WS 0,6 AR ¢ (a < b < o) ferd i fewe
Tefed ®U 3 Ferd 91 §1 76 39 | fodl demaf & Ap 4 g ol mitdd ¢

Options :

6009644689. 1
6009644690. 2
6009644691. 3
6009644692. 4

Question Number : 124 Question Id : 6009641174 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

~

T
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If @ and b are one-digit positive integers, then the probability that (a, b) lies inside y = ax2 - by s

L

1
e

1
3 U

?1
s
9

Options :

6009644693. 1
6009644694. 2
6009644695. 3
6009644696. 4

Question Number : 124 Question Id : 6009641174 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

qﬁﬂ‘}mbW'mWng y= ﬂ.t:-bx$3m(ﬂ, b)$@mgmaﬁumg

10
81

19
81

3 3/
81

41
g
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Options :

6009644693. 1
6009644694. 2
6009644695. 3
6009644696. 4

Question Number : 125 Question Id : 6009641175 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Maximize 7 = 4y + 6y
subject to

x+2y£12, x+y22 1z, y20

Options :

6009644697. 1
6009644698. 2
6009644699. 3
6009644700. 4

Question Number : 125 Question Id : 6009641175 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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I+ 2y<12 x4y 22 1, y2 0P ATMA 7 = 4y + 6y B DT BT

Options :

6009644697. 1
6009644698. 2
6009644699. 3
6009644700. 4

Question Number : 126 Question Id : 6009641176 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If 107 +3 x 47+2 + A is exactly divisible by 9 for all , ¢ ¥, then the least positive integral value of A is

1.3
2.1
3.4
4.5

Options :

6009644701. 1
6009644702. 2
6009644703. 3
6009644704. 4

Question Number : 126 Question Id : 6009641176 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

~
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

MG 107 + 3% 47*2 + A T 5 e v P 10 9 O Qi favTsa &, 1 )\ 1 AW ST QUIg 7 §

1.3

2.1
3.4

4.5

Options :

6009644701. 1
6009644702. 2
6009644703. 3
6009644704. 4

Question Number : 127 Question Id : 6009641177 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If 3+ 41 is a root of the quadratic equation x2 + ax + b = 0, then the product ab is equal to

1.15

2. =150
3. =25

4.5
Options :
6009644705. 1

6009644706. 2
6009644707. 3
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6009644708. 4

Question Number : 127 Question Id : 6009641177 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
(G 3+ 4 T6910 THIDR 42 4 gy + b = 0 BT TP 70 ¢, l HHA ab WK ¢

1.15
2. -150
3. =25

4.5

Options :

6009644705. 1
6009644706. 2
6009644707. 3
6009644708. 4

Question Number : 128 Question Id : 6009641178 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A five-digit number divisible by 3 is to be formed using the digits 0, 1, 2, 3, 4 and 5 without
repetition. The total number of ways in which this can be done, is

1.216
2.210
3.96

4.120

L ]
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Options :

6009644709. 1
6009644710. 2
6009644711. 3
6009644712 4

Question Number : 128 Question Id : 6009641178 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

P10, 1,2, 3,4 IR 5 BT ITAN G §U, 3l P! TRGR & o1, 3§ faH=a @ Uig-sidig dem
&1l W ¢ | 081 % @t fafial &l o de @

1.216
2.210
3.96

4.120

Options :

6009644709. 1
6009644710. 2
6009644711. 3
6009644712 4

Question Number : 129 Question Id : 6009641179 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The total number of rectangles (of all possible sizes) on a chessboard is

1. 8¢, x 8¢,
2. 91'.':! EC:
3. 8¢, x °C,
4,785
Options :
6009644713. 1
6009644714. 2

6009644715. 3
6009644716. 4

Question Number : 129 Question Id : 6009641179 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

U YR & d1s W 3f1gell (@ v A1l &) 31 ol el ¢

1. %¢,x °C,
2 Wx "
3 x %,
4,785

Options :

6009644713. 1
6009644714. 2
6009644715. 3
6009644716. 4
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Question Number : 130 Question Id : 6009641180 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In the expansion of (3 + 41/5)100 the total number of irrational terms is

1.50
2. 11
3.90
4.91

Options :

6009644717. 1
6009644718. 2
6009644719. 3
6009644720. 4

Question Number : 130 Question Id : 6009641180 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

‘-‘.'§+4_1 S}IGQGEWHLWWJﬂwwg

1.50
2. 11
3.90

4.91

Options :
6009644717. 1
6009644718. 2
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6009644719. 3
6009644720. 4

Question Number : 131 Question Id : 6009641181 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If the coefficient of x° in the expansion of (1-3 - i)T s 560, then the value(s) of A is/are

X

1. 2 only
2. -2 only
3. $2

4 +4

Options :

6009644721. 1
6009644722. 2
6009644723. 3
6009644724. 4

Question Number : 131 Question Id : 6009641181 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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o (13 - 2) S VR 1% 560¢, 131/ FAHE /R

1, B 2
2. had -2
342

4 +4

Options :

6009644721. 1
6009644722, 2
6009644723. 3
6009644724. 4

Question Number : 132 Question Id : 6009641182 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The maximum possible sum of the series 20 + 19% + 13§+ il

1.310

1
2.309-
3

l

3,310 -

3»103
4,309

Options :
6009644725. 1
6009644726. 2
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6009644727. 3
6009644728. 4

Question Number : 132 Question Id : 6009641182 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

J1ft 20 4 191+ 182 + ... BT HUHTH IHT TN §
3 3

1.310

|
2. 309~
3

1
3.310-
3

4,309

Options :

6009644725. 1
6009644726. 2
6009644727. 3
6009644728. 4

Question Number : 133 Question Id : 6009641183 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The slopes of the lines which make an angle of 45° with the line 3y -y + 4 = g are

1.2and K.
2

2. -2 and :
2

3.2 andl
2
4. -2 and -1
2

Options :

6009644729. 1
6009644730. 2
6009644731. 3
6009644732. 4

Question Number : 133 Question Id : 6009641183 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T I3 B YUY, o X 34— y 4 4 = 0 D WY 45° I BV &L ¢, ©

1.2 3R -2
2. -2 3RE
3.29RE
4-2 3R -1

Options :
6009644729. 1
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6009644730. 2
6009644731. 3
6009644732 4

Question Number : 134 Question Id : 6009641184 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The coordinate(s) of the points on the parabola y2 = gy, whose focal distance is 4, is/are

1.(2,4) only

2.(2,4)and (2, -4)

3.(1, 2¥2)and (1, -2y?2)
4.(-2 4)and (-2, -4)

Options :

6009644733. 1
6009644734. 2
6009644735. 3
6009644736. 4

Question Number : 134 Question Id : 6009641184 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

L ]
gcollegedunlaa
India’s largest Student Review Platform

T



A = g, 0 Tl 4 R gl a1/ e ¢

1,394 (2, 4)
2.(2,4) 3R 2,4
3. (1, 2V2) AR (1, -2v2)
4, (-2, 4) 3R (-2, -4)
Options :
6009644733, 1
6009644734, 2

6009644735. 3
6009644736. 4

Question Number : 135 Question Id : 6009641185 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The mean of 49 terms is 100. If the first term is increased by 1, second by 2 and so on, then the new
mean

1.15 149

2.15 124.5

3.15 125

4. remains the same
Options :
6009644737. 1

6009644738. 2
6009644739. 3
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6009644740. 4

Question Number : 135 Question Id : 6009641185 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

49 TG 1 1% 100 51 3 Uga UG # 1 Y 9fg 1 g, T A 2 31 afg 3t o1w awr o o G g,
T 1

1. 149 B
2. 124.5 B
3,125 G
4, gl TG

Options :

6009644737. 1
6009644738. 2
6009644739. 3
6009644740. 4

Question Number : 136 Question Id : 6009641186 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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If the variance of 1,2 3,...9, 10 is % then the standard deviation of 2, 4, 6, ..., 18. 20 is

B
2
2433
3.V66
33
2
Options :
6009644741. 1
6009644742, 2

6009644743. 3
6009644744. 4

Question Number : 136 Question Id : 6009641186 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

71239 mﬁuﬂm?%mz. 4 6,... 18 20 B P fadaH o

51| 5

-
]L.u
)

o

L) =

= W
l”lman

Options :

~
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6009644741. 1
6009644742, 2
6009644743. 3
6009644744. 4

Question Number : 137 Question Id : 6009641187 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Suppose ‘p : a natural number n is odd’ and q : a natural number n is not divisible by 2'. Then the
biconditional statement p & g is

1. a natural number n is odd if and only if it is divisible by 2

2. a natural number n is odd if and only if it is not divisible by 2
3. if a natural number n is odd, then it is not divisible by 2

4. a natural number n is divisible by 2 if and only if it is odd

Options :

6009644745. 1
6009644746. 2
6009644747. 3
6009644748. 4

Question Number : 137 Question Id : 6009641187 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

~

T

collegedunia:s

India’s largest Student Review Platform



A T 96 p ; U Wigpd WO n AN @ A1 g : U Wb @ , 2 B favren T @ ¥ 79 -
ufasfed du p:&q%

1. U Wi G n fawm g, 4 ofR et afe 05 2 9 fawrsa g

2. U Vidhd 8 n faw @, 3fS 3R b 9f g 2 9 sy el @
3, 7f¢ U W § n fawm &, 75 2 8 fawrsa e @

4, U YTghdl 68 n, 2 9 favru g, ufe Sk vt U g fawm

Options :

6009644745. 1
6009644746. 2
6009644747 3
6009644748. 4

Question Number : 138 Question Id : 6009641188 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The solution set of |x -1 <5, |x| >2Is given by

1.[-4, -2

2. 2, 6]

3.[-4, -2)V[2, 6]
4.[-2, 2]

Options :

6009644749. 1
6009644750. 2
6009644751. 3
6009644752. 4
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Question Number : 138 Question Id : 6009641188 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

|I_”55,h|zyﬂaﬁmﬁmﬁmﬁﬁﬁm$mﬂﬁmamm?

1.[~4 -]

2.2, 6]

3.[-4, -2]u[2, 6]
4.[-2,2]

Options :

6009644749. 1
6009644750. 2
6009644751. 3
6009644752. 4

Question Number : 139 Question Id : 6009641189 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The work done by the force 3;— s + 2 in moving a particle along a straight line from the point
(5, 1, -2) to the point (3, -2, 0) is

1. 15 units
2. 13 units
3. 25 units
4.5 units

L ]
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Options :

6009644753. 1
6009644754. 2
6009644755. 3
6009644756. 4

Question Number : 139 Question Id : 6009641189 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
U6 WA Wl & uﬂﬂl'?ﬂlwmﬁﬁ@(s* 1,_3)Hﬁ§[3,_3,0)ﬂ$ﬁﬂﬂ$ﬁﬂaﬂ
35_5j;3§mﬁ?mwm6

1,15 350
2 13315

3,25 3T
4,53

Options :

6009644753. 1
6009644754. 2
6009644755. 3
6009644756. 4

Question Number : 140 Question Id : 6009641190 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The brakes are applied to a train travelling at 72 km/h. After passing over 200 m, its speed reduces
to 36 km/h. The distance the train will travel before coming to rest, is

1.66 m

2.710m

2
3. 663 m

2
4- 723 m

Options :

6009644757. 1
6009644758. 2
6009644759. 3
6009644760. 4

Question Number : 140 Question Id : 6009641190 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

72 ke/h @1 1 9 Tl 61 U SaTial W o I Sl g1 200 m Bl G4l 07 B & a1 39! A1
36 km/h ¥ Wit ¢ fa4m 0@ 31 # el gRT au &t 71g ol g

Options :
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6009644757. 1
6009644758. 2
6009644759. 3
6009644760. 4

Question Number : 141 Question Id : 6009641191 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason
R:

Assertion A : If f(x) = cosx (3cosx +cos3x), then f(x) > 0 for all real x.

Reason R : cos§ < 0 when 6 € (“ n).

In the light of the above statements, choose the most appropriate answer from the options given
below :

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct

4. Ais not correct but R is correct

Options :

6009644761. 1
6009644762. 2
6009644763. 3
6009644764. 4

~
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Question Number : 141 Question Id : 6009641191 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A @ B U MU E | U @1 fee A gl T U1 R §1 SRUIR
HTUFYT A UG f(x) = cos x (3cos x + cos 3.x), A1 Tl MG x b T f(x) > 0 B
FRUR: cosf <08, 79 0e (%, n) Tl

TR P! €D T U 4 fddedl H ¥ Fad I9gd TR U

1. A 3R RS T8 § quT A 1 R Tel WPl ¢
2. AR R et ¢ NG A 1 R Fel EB1aHR0 Tel o1
3. A ¥el & NG R 96! Tel ¢
4 A 5! Tl ¢ W R ¥l ¢
Options :
6009644761. 1
6009644762. 2

6009644763. 3
6009644764. 4

Question Number : 142 Question Id : 6009641192 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason
R:

Assertion A : If x € R, then the maximum value of the expression 3* + 3+ is 2,/3,
Reason R : Arithmetic Mean 2 Geometric Mean.

In the light of the above statements, choose the most appropriate answer from the options given
below :

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A

3. A is correct but R is not correct
4. A is not correct but R is correct

Options :

6009644765. 1
6009644766. 2
6009644767. 3
6009644768. 4

Question Number : 142 Question Id : 6009641192 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A & B U § | U @1 U A H81 T § a1 SR FI PRUIRI
HUSUTA UM ¢ ¢  ©, I TP 3¢ 4 31-= B (G HH /3¢
SRR : IR H1e > TR H1ed il ¢

SWIdd P! £f®71d TG 5U g fadeul d 9 9o S0 I 9

1. A 3R R GHI g1 § 741 A 31 R Te] WHHI 8
2 A R R Fel § Y A F1 R el WHIaH el ¢
3. A %ol ¢ TG R el Tel ¢
4, A 9! ol © W R el ¢
Options :
6009644765. 1
6009644766. 2

6009644767. 3
6009644768. 4

Question Number : 143 Question Id : 6009641193 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason
R:

Assertion A : The minimum area of a circle passing through the points 4(2, 3) and B(4, 1) is 2r 5.
units.

Reason R : Equation of the above circle is x2 4 y? - 4x - 6y + 11 = 0.

In the light of the above statements, choose the most appropriate answer from the options given
below :

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct
4. A is not correct but R is correct
Options :
6009644769. 1
6009644770. 2

6009644771. 3
6009644772. 4

Question Number : 143 Question Id : 6009641193 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A & B fGUTU G| 0P 31 S A $gl T © Y1 T &I FRUIR|
HTHPUT A 9311 4(2, 3) 3R B(4, 1) T DR TH A1 T T I 4B 20 T SIS 6

PRV R : JRIA G &1 THH 2 + 32 - dx - 6y + 11 =0 ¢
JWIdd B! 27T ¥Ed gU, 9 fadpedl 4 8 e’ Suge IR AU

1. A 3R R &1 g ¢ qUT A F1 R g1 Wi g

2. A 3R R 3 Tgl § duT A BT R Tg! WP el ¢
3 AT ¢ W Rl Tel ¢
4, A gl 7ol ¢ W RH! ¢

Options :

6009644769. 1
6009644770. 2
6009644771. 3
6009644772. 4

Question Number : 144 Question Id : 6009641194 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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Match List | with List Il ;

List | List Il
A. |
1) =- 1 . 1 . Domain f(x) =2, 3]
yx—& yI—X
=4 :
B. f(x)= |=— Il. Domain f(x) = (2, 3]
13-1
C fx) = JS lIl. Domain £(x) =2, 3)
V. V. Domain f(x) = (2, 3)
i )=(2
f(x)={(x-2)(3-x)

Choose the correct answer from the options given below :
1. A1, B-lII, C-II, DIV
2. A-1V, B-lII, C-lI, D-

3. A-. B-Il. C-lIl. D=V
4, A-IV, B-lI, C-lll, D-I
Options :
6009644773. 1
6009644774. 2
6009644775. 3
6009644776. 4

Question Number : 144 Question Id : 6009641194 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
gcollegedumas
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Correct Marks : 4 Wrong Marks : 1

Tlt-1 &1 G-Il 9 GHeH Do

-1 Tl
1 1 .
A f(x) = _
Mo rtas |\ -p

B. f(x) = e I Wf(ﬂ:(z, 3]
‘3-x

C )= [~ I 9 ) = 2, 3)
qx-z

D. f(x) = /(x-2)(3-2) V. T f(x) = (2, 3)

i fqu T fadedl # 9wl IR gL

1. A-l, B-III, C-II, D-IV

2. AV, B-IIl, C-II, D

3, A<, B, Clll, D-IV

4, AV, B-II, C-III, D

Options :

6009644773. 1
6009644774. 2
6009644775. 3
6009644776. 4

Question Number : 145 Question Id : 6009641195 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Qcollegeduniaa
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il ;

List | List Il
~1/2 . ‘
' n
A ‘ ‘sran — dx B
| Jp sin®x+cos”x -
rﬂ,u': :
sin x
B. . dx Il. 10
Jo Sinx+cosx
r':'l'l.r n
cl -t i o, 2
Jy 1+em
D. .
n/2 l |V -
[ — — aX 2
o 9sin“x +4cos°x

Choose the correct answer from the options given below :

1. A-IV, B-lI, C-I, D-lIl

2. A-ll, B, C-II, D-IV

3. A-IV, B, C-lI, DIl

4. A-ll, B~I, C-IV, D-lIl
Options :

6009644777. 1
6009644778. 2
6009644779. 3
6009644780. 4

Question Number : 145 Question Id : 6009641195 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

~
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

-1 &1 -1l & G DI

-

A ("2 sin2x . T
. I .
Jo sin*x+cos*x 4
("2 sinx
B. : dx |
Jo Sinx+cosx
ran 1 n
C| —— Il —
Jo 1 4 punx 12
pes n
0. [ ———— &t V. S
Jo 9sin®x+4cos*x 2

1. A-IV, B-lI, C-I, D-lIl

2. A-ll, B, C-lIl, D-IV

3. A-IV, B, C-II, D-lll

4. A-ll, B, C-IV, D-lll
Options :

6009644777. 1
6009644778. 2
6009644779. 3
6009644780. 4

Question Number : 146 Question Id : 6009641196 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

~
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Match List | with List Il ;

List | List Il
p o TV ||
x=0 21
 y2-cosx —sinx 1
B, Iy ——— | IL.2
e
C. ' o “l 1
o 13243441
D. - v, =
x=1 log,x V2

Choose the correct answer from the options given below :

1. A-ll, BV, C-, D-lll

2. A-ll, B-I, C-IV, DIl

3. A-l, B-IV, C-II, D-I

4. A=, B-lll, C-II, D-IV
Options :

6009644781. 1
6009644782 2
6009644783. 3
6009644784. 4

Question Number : 146 Question Id : 6009641196 Question Type : MCQ Option Shufifling : No Display Question Number : Yes Is

~
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Tdl-1 &1 G-Il & G DI

-

f — | -
A‘ lim\l'{'x \1 ) 4 |~2
x=0 2X
ﬁ-cosr- sin x 1
B. = 3 | -
v (3-1) .
C. tim = Il 1
n+e 14243+ +n
-1
D. lim : v, i
x-1 log,x V2

1. A-ll, B-IV, C-I, DI

2. A-ll, B-I, C-IV, D-lll

3. A-|, B-1V, C-llI, D-I

4. A-|, B-IlI, C-lI, D-IV
Options

6009644781. 1
6009644782. 2
6009644783. 3
6009644784. 4

Question Number : 147 Question Id : 6009641197 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

~
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

In a university, out of 100 students, 17 offered Mathematics only; 14 offered Statistics only; 10
offered Physics only; 40 offered Physics and Mathematics; 22 offered Physics and Statistics; 8 offered
Mathematics and Statistics; 6 offered all the three subjects.

A. The number of students who offered Mathematics is 60.

B. The number of students who did not offer any of the three subjects is 1.
C. The number of students who offered only one subject is 41.

D. The number of students who offered exactly two of the subjects is 50.

Choose the correct answer from the options given below :

1. Aand B only
2.Band D only
3.Band Conly

4.8, Cand D only

Options :

6009644785. 1
6009644786. 2
6009644787. 3
6009644788. 4

Question Number : 147 Question Id : 6009641197 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
gcollegedumas
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Correct Marks : 4 Wrong Marks : 1

foeft faufareera # 100 faenfiat & @ o 17 = v fawy forr: $aq 14 7 wifere! fovy fom: Faa
10 7 Hifae! fawy forr: 40 3 4ifadt 3R nforg fawa & form: 22 3 ifdat 3k Gifer! fawat $i forn
8 = TITOrd 3R GifeTa! faval &1 foran a6 5 9ot i fawal &t ferm)

A O fag o aret faenfll @t € 60 2|

B, 3 faenfifal ot s, forgtH i fawalt & 9 15 +f fawa 7el foran, 1 21
C. 3 foenfdal 3t wem, forgia daw U g fawa fem, 41 %1

D. 3 et it e, o die < fawal &t fora, 50 €1

A e e fadedt # @ 961 S AU

1.%9d A IR B

2.9 B AR D
3. A0 B IR C

4, H90 B, C3RD

Options :

6009644785. 1
6009644786. 2
6009644787. 3
6009644788. 4

Question Number : 148 Question Id : 6009641198 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Qcollegedumaa
India’s largest Student Review Platform
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Correct Marks : 4 Wrong Marks : 1

Given three vectors g = i+ 2j - 3k, b=2i + 3j— kaNd ¢ = = +j + 4k

A. Volume of a parallelopiped whose coterminous edges are vectors g pand ¢ is 16 cubic units.
B..~1a) + 18] = 18}

C. ¢is perpendicular to g x b

D. Projection of 4 +¢ on s %

Choose the correct answer from the options given below

1. Aonly

2. A and Conly
3.Cand D only
4. Aand D only

Options :

6009644789. 1
6009644790. 2
6009644791. 3
6009644792 4

Question Number : 148 Question Id : 6009641198 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Wﬁﬁma:iw-ﬁ,ii:2i+3j-§m5=-i+j+4iﬁﬂgl

A T9 TR YCHad P A, o U g fdg W e ard fbor 5 ok ¢ lew g, 16
9T ¢

B. |a) +1b] = [¢]

C ix} Wiudgl

D. j Ra+ePIUETLgl

A fGu U fadedi o 9 w61 TR MU
1. $dd A

2.371@3@11(

3. $qq C AR D

4, Had A IR D
Options :
6009644789. 1
6009644790. 2

6009644791. 3
6009644792. 4

Question Number : 149 Question Id : 6009641199 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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For any two complex numbers, z, =1 +jand z, = 1 -4,

A+l + 15 -z =2Alz? +|z))

B. Polar form of ; IS given by cosg+ | Si"g

C. arg(z;) +arg(z;)=n

:;+ :z:+51

=1

:z;-z;'i
Choose the correct answer from the options given below :

1. A and B only

2.A, Band D only

3.Band D only

4. Cand D only
Options :
6009644793. 1
6009644794, 2

6009644795. 3
6009644796. 4

Question Number : 149 Question Id : 6009641199 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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o] & ey A 7, =1 4R 2, =1 - P QT

. |
-

A |Z|+Z:|: t |z, -2, =2[|:.-'1|: +|Z:I:}6|

B. 201 34 ¥ cos = + i sin” GRI [T AT €1
C. arg(z,)+arg(z;) =n ¢
23,=2,~5 v IBI

A Fow o et 8 98 SRR

1.%dd A 3R B
2. $aq A B3R D
3, $dd B AR D
4,%qd C AR D

2, 422,45

D.

Options :

6009644793. 1
6009644794. 2
6009644795. 3
6009644796. 4

Question Number : 150 Question Id : 6009641200 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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If ¥ = a(cosB + Bsin6), y = a(sin -6 cos0), thenat g = r-:_ we have

A Y
dx
g dy 82
dx*  an
c 9.
dx
n, dly -8\2
dx*  an

Choose the correct answer from the options given below :

1. Aand B only
2.B and C only
3. D only
4.B only

Options :

6009644797. 1
6009644798. 2
6009644799. 3
6009644800. 4

Question Number : 150 Question Id : 6009641200 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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afe x=a(cosB+Bsin9)3m y= a(sinﬁ-BcosB)%,fﬁ 9=EU¥EHWHW%

A. Ez==1
dx
B £y_®2
i an
C L=
dx
D, &y_-82
i¥  an
A1 fqu U fadedl 7 9 Fel IR MU
1. %dq A IR B
2. HaqB IR C
3.$dd D
4, H90 B
Options :

6009644797. 1
6009644798. 2
6009644799. 3
6009644800. 4

Qcollegeduniaa

T



